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L577 ,000 000 000
L57 ,000 000 000
HERE L57 000 000 000
L57: 000 000 000
7 ,900 100 ,500
L57 ,000 000 000
HR (FH) =B R (FE) % [_JL585 700 600 ,000
[ JL587 ,400 .000 700
589 000 000 000
WERE | JL58d ,000 000 ,000
[ JL586 ,600 200 .500
588 000 000 .000
R CHE)=H FR CRE) % Li41 500 500 500
L143 ,600 600 ,000
L145 ,500 500 ,500
L147 ,000 .000 ,000
L 000 000 000
L 9,500 9500 9500
EE3 L 500 9,500 500
L 000 000 000
L ,500 600 ,600
L ,600 600 ,600
,600 ,600 ,600
L150 ,500 ,500 500
HR(FH)= BER(F@E)E | JL153 000 200 000
[ JLI55 ,300 200 ,000
[ JLI57 ,300 300 ,300
L159 000 000 000
[ JL152 ,300 300 ,300
[ JLi54 1000 000 1000
[ JL156 ,000 ,300 ,000
L158 .000 .000 .000
RR CAE) =HE RRCHE)F | JLI6l 9,000 9,000 9,000
L163 ,700 700 .800
L165 1,900 900 .800
Li67 000 000 000
BER L162 000 000 000
4 1,900 900 .800
L166 ,600 200 .800
L168 9,000 9,000 9,000
R CHE) =1L e L175 8,800 8,800 9,600
179 11,300 11,300 11,300
ITZ3 L174 11,300 11,300 11,300
L178 8,800 8,800 10,100
RR CAE) =R R (AE)5 | JL183 9,000 9,000 9,000
[ JLI85 ,400 400 2,500
[ JLI87 ,900 900 800
[ JL189 ,900 900 800
INNET] 800 800 800
L193 ,800 800 .000
NAFE | JLis2 800 800 000
[CJLise 800 800 900
[ JL186 11,500 12,300 .000
[ JL188 11,500 12,300 .000
[ JL190 12,700 12,700 .000
L192 9,000 9,000 000
B (FH)=Fi R RRECHE) % L215 e 10,000 —
T — — 10,000
FRBER L2 10,000 10,000 10,000
RR CRE) =R RRCAE R L2 2,900 800 800 800
L 600 800 600 600
L 600 600 600 300
L2 .900 600 600 500
L ,600 400 ,400 600
[ENTES [ .600 600 800 000
L 600 600 600 600
L2 12,900 100 ,500 400
Lz 9,600 600 ,500 800
L2 15,600 500 ,600 600
HR(HHE)=EE BER(F@E)E | _JL253 9,700 300 ,300 300
[ JL255 14,500 300 ,500 500
[ JL257 19,900 .000 ,900 900
[ JL259 9,700 .000 .200 500
[ JL261 9,700 500 .200 900
[ JL263 13,800 500 ,900 900
[ JL265 17,600 700 ,700 700
L267 9,700 200 .200 200
LB%E | J252 9,700 200 1200 200
[ JL254 17,600 200 .200 200
[ JL256 9,700 .000 .200 500
[ JL258 14,200 .000 ,500 500
[ JL260 9,700 500 ,500 500
[ JL262 16,800 700 ,700 700
[ JL264 18,700 700 ,300 300
L266 9,700 700 ,100 100
HRCHA)=LOFH BER(FE)HE | _JL291 100 700 100 000
[ JL293 800 900 ,300 .000
[ JL295 800 .000 ,700 500
[ JL297 800 800 800 500
WOFEE  |_JL290 .800 700 .800 000
[ JL292 800 800 ,200 .000
[ JL294 ,800 .000 ,700 600
L296 6,200 .000 ,200 300
RRCHE)=HE RRECAE) % L277 9,300 300 ,300 300
[ JL279 900 300 ,300 300
[ JL283 600 300 ,300 300
[ JL285 500 500 500 500
L287 500 300 ,300 100
HER L276 500 400 .500 500
[ JL278 500 500 ,300 300
[ JL280 200 300 ,300 300
[ JL284 500 300 ,300 300
L286 ,300 300 ,600 300
R (HH) -8 BER(F@E)E |_JL453 000 300 000 100
[ JL455 ,000 300 ,700 100
[ JL459 ,000 300 .700 100
[ JLd61 000 300 000 000
[ JL463 7,100 900 ,100 700
L465 9,000 000 100 000
EER | Jus2 9,000 000 .000 000
[ JL454 9,000 900 ,000 900
[ JLA456 16,400 900 ,900 900
[ JL460 9,000 700 ,700 500
L462 ,800 700 .700 700
L464 ,000 700 .700 700
RRCHE) =/ FR CRE) % L475 500 100 400 500
L477 9,800 800 2300 300
L479 ,800 400 ,500 500
[ JL481 ,100 500 ,500 500
[ JL483 ,800 500 ,500 500
[ JLas5 800 300 300 100
487 800 300 300 300
BIRE L474 800 300 300 300
L476 800 300 300 000
[ JLA478 ,800 400 ,500 200
[ JL480 ,100 400 ,500 500
[ JL482 ,800 600 ,700 600
[ JL484 .000 500 ,800 500
L486 1,000 500 ,500 300
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%ﬁgﬂi WEE WEE WEE WEE WEE
HR(FH) ESCE N I B 500 .800 .800 .800 800
[ JL493 ,000 800 800 800 800
[ JL495 300 800 800 800 800
[ JL497 500 800 800 500 500
499 500 500 500 500 500
BARE | _JLa90 500 500 500 500 500
[ JLa9y 500 800 800 500 800
[ JLdo4 300 800 800 500 800
[ JLa96 500 800 800 800 800
1498 000 800 800 800 800
R (HE) =l R (A% L431 .800 600 600 700 600
1433 .400 1000 300 300 600
1435 100 100 100 .000 000
437 300 100 100 100 100
L 100 .200 100 100 400
L 100 100 100 1100 100
FRLFE L 100 100 100 100 100
L 100 500 500 500 100
L 100 100 100 100 100
L 1000 100 100 .200 200
L 100 700 800 200 200
L 600 100 .200 100 200
RRCHE)=1LAM RR(HE) % L: 000 000 500 /500 ,900
L37 1000 ,000 1000 1000 ,000
L37 500 500 100 ,900 000
L37 000 1000 1000 1000 ,000
FEAMFE L37 1000 000 1000 ,000 1000
L37: 100 100 100 500 500
L37 100 100 ,000 400 100
L37 000 1000 1000 1000 000
HR(HHE)=K5 BER(FE)H | _JL661 ,000 ,200 ,000 800 ,000
[ JL663 100 .000 300 600 800
[ JL665 300 400 000 200 400
[ JL667 1000 000 1000 1000 000
[ JL669 600 600 700 200 .900
L671 ,000 1000 1000 1000 ,000
X7A% | Jle62 1000 000 1000 ,000 1000
[ JL664 ,200 ,200 ,600 200 ,200
[ JL668 1000 1000 1000 1000 200
L670 000 600 ,200 ,200 ,000
L672 500 500 .900 .900 ,000
L674 ,000 ,000 800 000 600
HR(HH)=R& BER(FE)E |_JL605 ,000 100 ,000 400 ,000
[ JL607 000 ,900 500 600 .000
[ JL609 ,900 ,900 .900 000 .000
L611 1000 000 1000 1000 000
L613 ,000 ,000 .900 ,000 300
L615 ,000 1000 1000 1000 ,000
RB% | JL606 1000 ,000 1000 ,000 1000
[ JL608 000 000 000 .900 000
L 1000 1000 1000 1000 300
L 000 100 300 500 600
L 000 100 300 500 600
L ,000 000 300 ,000 500
RR CAE) fed RRCPAE) 5% | JL62! 9,000 000 000 000 000
[ JL625 ,000 800 ,000 200 000
[ JL627 000 800 .900 .900 ,900
[ JL629 500 500 300 200 000
L631 1000 ,000 1000 ,000 1000
1633 100 100 400 800 800
L637 000 400 800 900 600
L639 ,000 1000 1000 1000 ,000
A% | Jl622 1000 ,000 1000 000 1000
[ JL624 000 000 .900 .000 400
[ JL626 ,000 ,000 700 700 400
[ JL628 1000 1000 1000 1000 000
L 000 000 800 800 .900
L 000 000 800 ,800 300
L 000 100 800 800 300
L 000 ,000 800 000 400
HR(HH) =55 RER(FEFE [ JLE ,000 .900 ,000 600 ,000
[ JL689 ,900 .000 700 700 800
[ JL69t ,700 900 500 500 600
[ JL693 1000 ,000 1000 1000 ,000
[ JL695 500 500 300 500 100
L697 ,000 1000 1000 1000 000
BESR | Jl68s 1000 000 1000 000 1000
[ JL690 .300 .300 600 600 .300
[ JL692 1000 1000 1000 1000 ,000
[ JL694 .300 .300 100 600 700
[ JL696 000 000 500 000 .900
1698 ,000 ,000 .900 000 ,000
RRCAHE)=ER. RRCAE R L641 800 200 200 700 ,800
L643 800 .400 900 900 4,500
L645 700 600 1900 800 4,500
L647 800 400 .200 200 000
L649 700 100 500 300 500
[ JLe51 400 .000 500 000 500
[ JL653 500 500 .900 600 500
L655 100 .000 .900 000 500
BERER L 800 600 800 500 800
L 200 100 100 1000 300
L 800 100 600 000 800
L 000 000 000 .000 800
700 600 100 300 100
200 600 800 400 ,000
.900 600 1000 100 900
.900 ,600 400 100 300
TELBE - ——- 000 - —-
R () % 700 000 400 000 000
600 200 200 ,900 ,900
,900 ,900 1,300 400 400
HER 600 900 .300 ,900 ,900
200 500 200 900 900
200 200 200 900 900
R (B =& KR (D% 500 800 400 800 800
800 700 600 200 200
100 800 .900 200 200
100 600 .200 500 500
100 400 .200 300 300
800 300 800 300 300
800 300 800 100 100
900 900 900 800 800
(TS 300 600 300 500 500
800 600 .200 200 200
300 200 .600 600 600
500 200 800 600 600
500 100 800 100 100
500 300 200 000 000
800 400 .300 800 800
100 400 900 800 800
R (=38 KR (D% 200 000 800 400 400
500 200 500 100 100
500 600 500 100 100
300 100 200 300 300
Hing 400 600 400 200 200
100 200 200 200 200
500 700 900 800 800
500 400 100 100 100
ECCEREANT] KR (A 5 800 9,700 800 700 700
700 9,700 700 700 700
FRLFE 700 9,700 700 700 700
11,600 11,600 11,600 11,600 11,600
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i *i’;m WEE WEE WEE WEE WEE
R (FFH=X5 KR (O % Bl 800 .300 9,800 .200
700 100 100 600
600 1000 900 300
K535 600 700 800 800
800 800 800 700
000 000 700 ,300
R (=K KR (O % 100 700 100 .800
600 .900 600 200
400 .900 400 800
600 400 600 900
RIGZ 100 700 1600 200
600 800 .900 .900
200 900 500 700
500 400 800 .900
AR (=R K AR (FFH % ,200 ,200 ,200 ,200
,200 ,200 ,200 ,200
,200 ,200 ,200 ,200
000 000 000 000
33 000 000 000 000
,200 ,200 ,200 ,200
,200 ,200 ,200 ,200
,200 ,200 ,200 ,200
R (FFH=2% KR (D% .800 000 .800 .000
400 500 400 400
800 600 700 ,900
.400 500 500 000
,600 300 100 800
S 500 200 100 ,200
500 300 .900 800
500 800 700 .200
500 100 000 700
500 300 700 .900
AR (FFH=ER. KR (FFH % 700 .800 500 400
800 100 300 400
700 .700 .200 ,000
.200 700 400 ,200
000 300 400 400
200 700 400 600
200 700 400 600
100 300 000 400
BERER 1000 700 000 800
.000 100 .000 400
900 500 900 400
1000 600 1000 800
800 ,200 800 .300
800 ,200 800 .300
700 ,200 700 .300
700 ,200 700 .300
BEE (PED) AL (T | BEE (T8N 5 .000 500 900 .900
800 300 100 400
200 ,000 700 100
LRFFRIE[ .500 400 ,000 600
800 300 ,000 300
000 000 000 800
RRCHE)=-RE RRCAE R ,800 800 800 200
600 800 28,000 ,200
RER 700 700 25,000 100
.900 .700 700 100
AR FHFm)=H WRFFRR[J 500 500 300 500
500 500 200 500
100 800 800 100
BB 300 900 400 300
500 000 .900 500
500 000 .900 500
LR T -RE LREFFRIE[ ,200 700 000 ,200
200 900 300 200
HER ,200 ,300 700 200
200 000 700 200
AR FFR)=-FR FRR 800 900 100 800
,900 200 .300 ,900
ARFTR R 400 300 400 400
,900 .300 200 ,900

AREFFR=LE was .800 900 500 800
14,600 800 400 13,900

9,800 ,900 .900 9,800
600 .400 400 14,600
600 .400 400 13,500

WRFFRRE[J 000 600 800 300
.400 ,900 800 10,400

800 900 ,900 800
500 ,900 200 100

600 900 100 800
RFFR-LES L% 000 600 000 300
FLIE e % 500 100 500 600
=l TERERE 900 000 800 1,100
400 3,600
was .400 4,200
800 1,900

HLiR(EX) =R FIR(ER) % .800 800
RRFE 800 800

ALIR (B 3) =BfE FREH)E .900 ,900

AR L: 900 —
HLIE () AR R L: 11,000 11,000
£ L: 11,000 11,000

LR (ER)=Z@5 FLIE(EB) % L272 .000 9,000 .000 000
ES T L2726 000 9,000 000 — 000

== E=ES [ JL3621 000 12.900 000 600 600

[ JL3625 000 12,900 000 600 600
[ JL3629 600 7,000 600 300 300

L3631 000 900 000 600 600

L3633 000 600 000 600 600

L3639 000 600 000 100 100
L3641 600 300 600 700 700
BERE | JL3620 600 600 600 300 300

[ JL3622 000 12,900 000 600 600

[ JL3626 000 900 000 600 600

L3630 000 600 000 600 600
L3632 600 300 600 700 700

L3634 000 600 000 100 100

L3642 000 600 000 100 100
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= E4 ERITAGALE—I) FFIIBEALE—)
FH EEm EEE e FH BEE B
AR = ETEE S AR =
R CHE)=XR (B | RECHE) % 288 7,000 75% _ +:8,000 —
288 9700 65%  F:11,300
288 14,500 48%  A:15,100, £:15,100, +:13300
288 12900 | 54%  A:14500. %:14,500, F:12,600
288 £:14,000, +:12,600
288 0
288 £:13,000, £:11,200
288
288 211,800, £:11,200
288 . £:13,600, :10900
288
500, :14,500, £:14500, £:10900
500, :14,800, £:14,800, +:10,900
500, A:14,800, %:14,800, +:10.900
500, £:14,800, £:14,800, £:10,900
KR () % 000
800, +:11,000
514,800, :11,000
288 12000 54%  F:11000
288 12,300 56%  +:11,000
288 11,800 57%  +:11,000
288 8000 | 68%
288 11,800 57%  7K:11400. A:11.400, £:11,000
288 11,800 57% 7 400, A:11.400, 1:11,000
288 11,800 57% 400, :11,400, :10800
00
(AE) =Xk (B&) |"RR@E) [ _J
[ JL225 | 1
| JL229 | 7
RBR (B7) % | JL220 | I
[ JL22d | 1
L228 | T
(T L501 | I
L503 | 1
L505 | 1
L507 | 154 517,300, $:20.800, 1:23
L509 | ] 1 300, £:21,700, +:24,200
28E1F1 1 3,300, §7:20,300, +:23400
28EF] 1
288 .
288
288
288
[CJLs23 | 288
[[Jiso5 | 288
[CuL527 | 288
[JL529 | 28E 8T ¢
531 | 288 ¥
(FLIE (FTFA)H_JLs00 | 288 >118.000, +:19,300
[uLs02 | 288 719,500, 1:19.900
[ JL504 288 £:20,000, +:20,500
[JL506 | 288 2:20,000, F:20,000
[JLsos | 28B@ 1 500, 7:16,000, £:20,000, £:19,000
28EH | 316,500, :16,000, £:20,000, +:19.000
288 §:17,200, :16,500, £:20,300, +:18,100
28EH | 1:18,300, :17,300, £:21,100, :17.500
28EF 1 9,000, %:21,800, +:16,000
[ 288 4,900, %:22,000. F:12,900
[[Jis20 | 288 400, :22,000, £:12,400
[[JL522 | 288 900, %:22,000, +:11.900
[(Jis24 | 288 900, £:21,300, £:10900
[CJL526 | 288 900, %:21,300. 9,900
[[Jis28 | 288 200, +:9.400
530 | 288 200, +:8.900
R (PAM) %[ JL303 | 28HFT | | 900, +:12900
[CJL305 | 288 900, +:15.900
[JL307 | 28E] ¢ 3,600, 4:24,100, %:24,600, 1:22,100
[CJL309 | 288 00, :24,100, %:24,600, +:22.100
28EF] 23500 __48% _ JK:23,600, A:24,100, £:24,600, £:22,100
28EHT 23000 | 49% 723,100, A:23,600. %:24.100, +:21,600
288
288 %:21.600, 21600
28EF] 18000 _ 60% _ £:22,600, F:19,900
[ 288 62%  £:20900, 1:18.000
[JLa23 | 288 700
[CJL325 | 288 300, £:18400
[UL327 | 2888 2 000, £:19.900
[CJL329 | 288 900
[UL331 | 288@ 2 100, £:19,200
[JL333 | 288 900
335 | 28 2 000, %:26,400, £:19,200
@E%E [ JLs00 | 288 900, +:15,900
[uL302 | 288 900, :15,900
[CJL304 | 288 00, X:21200, :20200
[JL306 | 28BH] 2 200, £:24,200
[CJL308 | 288 400, +:22.300
288 900, :15,900
288 300, +:20300
28EF 1 800, F:21,300
288 600
[ JL318 | 28H 000, £:23700, +:20300
[CJL320 | 288 500
[UL322 | 2888 2 400, %:24,800, £:20,300
[(JL324 | 288 200, £:19,.800
[JL326 | 288f] 2 200, F:19,800
[(JL328 | 288 200
[JL330 | 2888 2 300, F:18,600
[JL332 | 288
CRIB) =%l () | Rz (M) F|_JLo01 | 28HF] _ 14900  70% £:21,400, £:21400
[CJLo03 | 288 9.900 | 60% 6,900, 7K:16,000, 24,100, 24,100
[JLe0s | 288 2,400 56% _ £:24,100, :24,100
[CuLoo7 | 288 2400 | 564 | £:24100, +:24,100
[_JL909 288 1,500 57% £:23,300, +:23300
288
288
288
286 11
[ 288 1,900, 14,500, £:13,500
[[Jio23 | 288 0,900, £:17.400, £:18,700
[JLo25 | 288 9,900, %:28.200, F:18,600
R (B 3t |_JL800 | 28EIAT | ¢
[CJLo02 | 288 £:13.800
[ o4 | 288 £:13800
[JLo06 | 288 . +:15,300
|_JL908 288 +:17.200
288
288
288 1:19.800
28EF] 22000 _ 56% _ %:22,400, F:19,800
[ 288 66% _ F5:22400, +:20200
|_JL920 288 70%
927 | 288 73%
RIR (B =4I (B F %) | KR (7D e [ L2001 | 28B1A1 1 73%
[JL2005 | 288 18 64%
|_JL2009 288 7%
2019 | 288 734
WL (37F#%) F_JL2000 | 28] 14 1% £:17,100
[JL2006 | 288 67% 0
[uL20i0 | 288 2900 | 75%
[JL2016 | 288 900
R (BE7) =#LIR (3 F %) | ABR (BF) % [ JL2501 | 28R | | 2,900, +:12,900
2505 | 28 2,100
(LR (37 Fm) 5 JL2504 | 26EFT 1
2506 | 28 7K:9,900, 79,900
KR (7 =540 (BBE) | KBR (/%) % [ JL2081 | 28H@T 1 £:20,900, 1:20,900
[JL2087 | 288 %:13,600, £:13,600
AR () % [_uL2084 | 288 13,600
[JL2088 | 288 $:21,900
EE=AR (T &) TR 3513 | 28H[] | 13900 _ 78%  H5:20900, £:20,900, £:22,600
3515 | 28 900 | 78%  j3:17.300, £:17.300, £:20.300
(LR (37 F %) 3510 | 28H[] | 13900 _ 78%  F:19.200, £:19,200, £:18,200
[JLasi2 | 288 900 | 78% 3:20,900, £:20,900, £:22.100
£ W (PM) [ JLs65 | 26HF] | 9900 | 80% +:10.900
[CJLs67 | 288 300 | 64%  £:20000. F:21,000
[Jis69 | 288 900 | 73%
ZiEA%E | JLs62 | 288 900 73%
[JLsea | 28B@ 19,200 62% 19,500, £:21,300, £:19,000
566 | 288 900 | 80% 7k:9500. 9,500
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4] &2 ___FR7 AGA L) F/HMTBEALE—IL)
TR [T} THe WRE %
AR EIEES AR
R CRE) =Rl RRCHE) %[ JLss1 | 2880 9,500 80%  1:18500 —
[CUL553 | 288 17,000 | 65%  :14500. K:14,500, 18,500, £:20500
[Js55 | 288 11900 | 76%
[uLs57 | 288 16,500 66%  £:19.700. F:15,000
Mg [ JLs52 | 288 13,000 73% _ :14,000, £:19,000, £:19200
[CJLs54 | 288 11,900 76%
[ JL556 288 15,200 69% £:18,300, +:16,900
558 | 28H 9500 | 80% %:10,900
R CHE) =3 R CHE) % 288 9,500 80%  +:9,000
288 10900 77%
288 19,000 60%  X:18,700, 7k:18,700, £:19,300, 1:17.500
ElES 288 19,200 60% :X:19,000. 7K:19.000. #:20.300. F:20.800
288 10,900 | 77%
288 9500 | 80%
R CHE)=HIK R CHE) % 288 9,500 80%
[CuL575 | 288 20300 57%  X:18,600, :18,600, F:18.600
[uLs577 | 288 10,900 | 77%
579 | 288 16,900 64%  J3:17600. %:18.400, F:17,100
#®L% | _JL570 | 288 17,600 63% _ £:20,300, +:20,800
[CuLs572 | 288 10,900 %
|_JL574 288 17,400 63% £:19,100
576 | 288 9500 | 80%
R CHE) = RRCHE) %[ Jise5 | 280 4,900 624 £:20100, 1:20600
[JLss7 | 288 6200 | 58%  A:16.800. %:18.300. F:18,900
[Jis89 | 288 2900 | 67%
EfEFE [ JL584 | 28H 2,900 7%
[_JL586 288 8,400 53% £:18600, +:17600
588 | 28 4,900
R CHE)=H R CHE) % 288 3400 64%  1:15000
288 56%  +:15300
288 4,100 62%  A:15000, £:15000, 1:15000
288 59%
288 ] 68%
288 754
HERE 288 9 75%
288 1,900 | 68%
288 5,400 59% 3:14,100, £:16,500, 1:16,500
288 6500 | 56% | 5:14,100, %:17.500, F:14,100
288 56%  3:14,100, £:17,500, +:14,100
288 64%
R CHE R CHE) % 288 70%  F:11.900
288 ] 67%  X:16,000, K:16,000. A:16.000
288 67% 16,000
288 734
288 16,000 56%
288 10900 | 70%  %:16000
288 11,900 67% 14,200, £:16,000
288 10900 | 70% _ %:16,000
R CHE)=HE R CHE) % 288 8900 71%
288 18100 40%  F:11500
288 14,400 53%  +:11,500
288 9900 67%
REFE 285 9900 | 67%
288 14400 53%  F:11500
288 16,500 46% £:16,700, +:11,500
288 8900 | 71%
R CHE) =17 R CHE) % 288 7500 63%  +:9.300
288 11,000 46%
23 28R 11000 46%
288 7500 63%
TR CHE) =/ R CHE) % 288 8900 67%  1:10300
900 | 60%  +:12,300
9800 | 64% | +9.300
64%  +:8300
70%
74% 8,000
IR 74%
708
64% 300
£:10,900, +:8,300
000
R CHE) % 2,300, £:22,800, +:23300
474 1,800, +:22.300
72% _ %:13,000
FRERR [ | 9900 7%
|| 20200 43% 522500, £21300
; 42% 523500, £:22800, 22,300
TR CRE) =W R (PE) % 65%  1:13400
74%
4%
60%  £:13800
74%
LS 19500 74%
[CuL234 4%
236 65%  £:13,000, £:13,000
240 74%
247 58%  %:15700, £:13,800
RECHE)=ES HR (AM) % [_JL253 75%
[uL255 62% 14,600, :14,600, £:14,100
[ JL257 53%  1+:14,100
[JL259 75%
261 75%
[JL263 65%  £:13,600
|_JL265 59% £:16,000, +:14,100
267 75%
252 75%
254 59%  £:14,100
256 5%
258 66%
260 75%
262 56%  £:17,100, £:14,100
264 56%  £:17,200, +:14,100
266 75%
291 6 66%
293 77% _ £:16400
295
[JL207
WOFEsE [ JL290
[CJL202
|_JL294 +:17.400
296 66%  +:18,800
R CHE)=HE R (PE) % 277 49%  K:18100, 7:19,800, £:19.000, F:19.800
279 424
: 283 288 17,200 52%  7k:17,000, £:16,700
[CJL285 | 288 700 50% 7K:17,500. %:11,400. F:11,400
287 | 2881 400 | 62% 11400, +:11400
R 276 | 288 400 | 62%  X:20800. %:11.400 F:11,400
[CuL278 11400, +:11.400
[uL280 416,700, £:16,700
|_JL284 20,700, £:22,000, :19,700
286 +:18.800
R CHE)=ES R (PE) % 453
[CuL4s5 £:13.900
[ JL459 |
[ JL46T |
[ _JL463 | £:15.200, £:13,900
465
Eex [ JLas2 |
[ JL454 |
[ JL456 |
[ JL46O |
[ JLd62 |
4
R CAR)=BH R (PE) % 5 | 288 14,000 62%  £:14600, F:14,600
7 | 288 16400 | 55%  %:16,900. F:16,900
9 | 28 9700 | 73%  +:13400
[CJL4si | 288 13400 63%
[[JLass | 288 9700 | 73%
485 | 288 9700 73%
487 | 2881 9700 | 73%
IR 474 | 288 9,700 73%
476 | 2881 9700 | 73%
478 | 288 9700 | 73%
|_JL480 288 13,500 63% £:15,100, +:14,900
[CJL4s2 | 288 9700 | 73%  +:15300
|_JL484 288 17,400 52%  £:17,900, +:15800
486 | 288 16,900 | 54% %:17.400. F:14,700
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R CHE R (PAE) % 491 | 288 9,400 76% —
[CJL493 | 288 15500 60%  A:15600. %:15600, £:16,100
|_JL495 288 12,700 67% £:14,700, +:14,700
[CuL4e7 | 288 9400 | 76%
[JL499 | 288 9400 76%
BHFE [ JL400 | 288 9,400 76%
[CuL4s2 | 288 9400 | 76%
[CJL4ea | 288 14100 64%  :14200
[ JL4o6 | 28EIFT | 76%
498 | 288 55% %1790, £:14,100
R CHE) =#al R (AE) % 431 288 4,200 64% _ A:14,800, £:14,900, 1:15,300
[CJL43s | 288 57%  %:17,300, +:17.300
[[JL43s | 288 75%  1:15800
[CuL4s7 | 288 65%  %:15300, £:15300
[Jrase [ 288 75%
[oL4a3 | 288 75%
RS | JLaso | 8B 754
[CJL4s2 | 288 000 | 75%
[CJL4sa | 288 000 | 754
[CJL436 | 288 500 63% | %:16900. F:15800
[JL43s | 28HET | 10000 | 75%  +:16200
40 | 28HAT | 16300  59%  %:16800, £:14900
WRCAR=EAM |[RRCHE) % 28EH] 13000 71%  K:18.400, :18400, £:18900, F:18.900
288 900 | 76%
28EF] 18900 58% 600, F:16,400
288 900 | 76% %:12,900
JAMFE 2861F] | 1 900
288 000
28EF 1 500, F:15,900
288 900
R CHE) =K% R CHE) % 1| 288
[CJL663 | 288 ; 19.200.
|_JLEBS 288 19,900, +:17,300
[CJLe67 | 288
[ JL6BY 288 100 56% 19,600. 19,400, £:20,300, +:18,900
671 | 288 900 | 75% @12,
X% | JL662 | 28EE | 10900 | 75% | +:12900
[“JL66a | 288 600 60% _ 7K:19.200. :18,000, &:18400, £:20,600
[CJLees | 288 900 | 75%
670 | 288 000 | 57% 17400, K:18:800, A:17,200, £:17.400
672 288 900 52% 1:21,400, £:21,500
[JL67a | 288 900 | 71% _ £:19,900
RE(FE)=-RE FE(CHM) | _JL605 | 28HA] | 12900  73%  £:18500, £:20,400
[uL607 | 288 900 61% 500, %:20,700, 22,600
[ JL609 288 800 61% 300, £:19,500
611 | 288 900 | 77%
613 288 17,200 64% A:19,300, £:20,200
[JL6i5 | 288 0,900 | 77%  £:12,900
RE% [ JL606 | 288 900 | 77%  $:12,900
[JL60s | 288 100 64%  £:17.300. F:18,500
610 | 288 900 | 77% _
612 | 288 300 56% 322,400, %:22,400
614 288 300 56%  5:22.400, £:22.400
[JL6i6 | 288 1300
R CHE) =& R (PM) %[ JL623 | 28HFT | | :11,900, F:11,900
[CJL625 | 288 7,700, +:20,900
[JL627 | 28Bf] 1 19,100, %:20,200, 21,200
629 | 288 9,300, +:19,100
631 | 2881 112,900, £:12,900
633 | 288 7,600, £:17,400
637 | 28EF1 1 7,800, £:17,400
639 | 288
FeAR | JL622 | 28H
[CJL62a | 288 1£:20.700
[JLe26 | 288f 1 £:20,700
[CJL628 | 288
[[Jie30 | 288
632 | 288 ; 9,500
[CUL6ad | 28HH 18400 59% :17900, k17900, &21.300, F18,000
638 | 288 2,900 | 71% _ £:20400
RE(FH) -2 (A %[ _Jes7 | 28HRET | 12900 71% _ £:17,200, £:17,300
689 | 288 800 63%  £:17.200. F:17,500
691 28Ef] 16800 63% _ £:17,200, £:17,300
[CJL693 | 288 900 | 76%
[CJLeos | 28HH 15200 664 F515300. %6800
[JL6e7 | 288 900 | 76% %:12,900
EERx | JL6ss | 28d 900 | 76%  +:12,000
[CJL690 | 288 800 63%  J:15200. A:15.200
[JL6o2 | 288 900 | 76%
[CJL6oa | 288 800 63% JK:15200, £:15.700
[ JL696 | 28EIAT 16800 ' 63% 15300, A:15.200, £:16.300, £:15200
[JL69s | 288 2900 | 71%  £:17.800
TE-ERE [RRCEE)® 28EH] | 7000  85% 8900, £:9800, £:11600
288 11100 77% 600, :11,700, %:12,700, F:13.600
288 11,100 7% 600, £:11,700, £:12,700, +:13,600
288 11,600 76%  3:15.100. %:12.200, £:13.200, £:14,100
288 11,600 76% §:15,100. 12,200, £:13,200, +:13,100
[ 288 9900 | 79%  £:12.200
|_JLE53 288 11,700 76% (10,600, 7k:10,600, &:11,100, :11,100
655 | 288 9900 | 79%  :11,700
ERER 28HA] | 8000 _ 83% 1:10700
288 12200 75% 000
288 12,200 75% 200
288 9900 | 79%
| JL64 1% 600, 7K:14,700, :14,700, £:15,100
[uL650 71% 600, 7K:14.700, A:14,700, %:15.100
[ JL652 7% §:13,500, 7K:11,700, &:11,700, £:12,100
[JL654 79% _ 73:12,500. 7K:10.700, A:10,700
RR(VE)-BEAS [RGB X[ J650 | 51% 7K:16,900, £:28,700, +:28,700
[JL658 51%  J5:28,700, :16,900, +:16.900
KR (71 R ABR((RFY) % 3 64%
=3 4 64%  %:17,500
KR (D)= KBR(FRF) % 62%  #:15,600, £:15600
65%  %:15,100, :15.100
800 9%
HER 600 59%
100 65% 115,100, £:15,100
65%  %:15,100, :15.100
IR (RFH=7E% KBR(FRF) % 39%
37%
37%
434
TEER 47%
37%
6 37%
2190 37%
R (R FH) =1L KBR (A5 % | JL2233 59%
56%
524
23 54%
53%
54%
IR (=18 KBR(FRF) % 73%  #:12,400, £:12,500
60%  A:15,500
59% 15,800, £:15,500, +:15,500
58%
17,000 55%  7k:18,300, £:18.000, 1:16,700
55% 7k:18,300, £:18,000, +:16.700
51% +:16,700
69%  %:12,800, £:10200
[ ] | 10200 | 73% | +:11,500
5%
54%
62%
62%
72%  %:10900, £:11000
61%
6%
R (/) B | AR (G 3 1 64% 713,400, £:13,100, £:13,900
614
55%
58% 15,500, £:16,000, £:13,900
R [ 57% :15,
60%
61% 214000, £:13400
6%
BR (5 =#210 KBR(FRF) % 54%
54% 9,700
BLE [ J 54% 9,700
11,500 | 45%
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IR (FFH=X5 KB (75 % 59% 110,700, £:10.800 —
56%
59% 110,400, £:10.400
Rn% 63%  #:10500, F:10.800
63% 110,400, +:10.400
56%
IR (=R KB (FRF) % 64%
64%
64%
67% %1120, £:11400
RIBH 4% +:12,000
4
7% 211,100, £:11,100
4% £:13,200
IR (RFH =X KB (FRF) % 56%  £:12900, £:12,900
554
51%
554
66%
AR 66%
66% +:13,100
1 51%
66%
554
R (=28 KB (FRF) % 66% [ £:12.400
66%  +:15300
66%
66%
66%
S .
I 66%  :15,300
L2438 | 28H 700 66%
447 | 288 700 66%  %:14500
R(FM=-ERE |ABR(FF %[ L2401 | 288 700 62%  £:13400, F:13400
[JL2403 | 288 700 62
[UL2a07 | 288 700 62%
[JL2400 | 288 700 62%
81 | 288 300 | 66%
411 | 288 700 62%
415 | 28E[] 12,700 62%
419 | 288 0900 | 67% 11,300, £:11900
ERE% [JL2400 [ 28BF7 | 10,800 67%  :11,000, F:12,200
[JL2202 | 288 2900 | 61%
[[JL2a04 [ 288 2,700 62% _ %:12,900, £:12.900
L2406 | 288 0900 | 67% [:11,300, £:11,700
[JL2410 | 28E1F 1
L2ag2 | 2880 —
412 | 288 100, $:14,700
414 | 288 714,700, 1:14,700
B (P20 =FLIR (3 T mef & 2 (P Ep) 28687 | 1 100, +:21,700
288 0, +:14.200
288 114,400, +:12,100
LIS (37 F %) 28BR1 | 10900 76% 211,900, +:11.900
288 8,600 60% K:19,000, £:19,300, 1:18,100
288 7500 | 62%  A:18,000. %:18.300. F:18,100
R CHE)=RE R CHE) % 286 300
288 1,900
BER 285 900
288 500 49%  1:38,100
BEEUMO-HE RBEECMD) 431 | 288 500 42%
[JLaas7 | 288 500 | 49%
WEF | JL4432 | 28 49%
438 | 28 42
ZEEOMR)=HE REECMOA JL4331 | 288 47"
[La3s7 | 288 54
A% | JL4336 [ 288 47
288 54
ZEEOMO=-BH  BEE (M) 2861F] | 1 60%
288 5%
288 60%
BHFE 288 12 60%
28 54%
288 60%
ZEE(MR=1EE  [EEECMO R JLd01 | 288 58%
[JLaa03 | 288 524
[L4d05 | 288 52%
413 | 288 52%
415 | 28 58%
@ [ JL4d02 | 28HRET | 13000  58%
[JL4406 | 288 52%
o[ 288 524
2 288 52%
4| 288 58%
ZEE(MR=EA  EEE(MD) 288 00 61%
288 6%
288 61%
AR 288 61%
288 61%
288 6%
REFTR)-FH  FLRGHFFR A L2803 [ 288[1 1 54%
[JL2805 | 288 5%
2809 288 54%  +:12200
HHFE [ JL2804 | 288 57%  1:12.200
[LL2806 | 288 54%
2810 | 288 5%
ARGTTR)-HE  FLIRGIFR) A J2821 | 2880 63%  +:12,500
[JL2s27 | 288 5%
FAE%E | JL2822 | 28 58%
2828 | 28 65% £:11,800
R FHFR) -5 FIRGFFH A L2831 | 28HF | 51% _ 1+:15500
2833 | 28 56%  +:14,000
2830 | 2880 58% | +:13,300
7eEF [ JL2830 | 28H 49%  :16.700, +:16.700
| JL2832 288 56%  +:14,000
[JL2s3s | 288 0%
HRGTTR) =B % 2871 | 28H 62%  1:14,000
2877 | 288 13900 62%  3:12.500, X:11,800, £:15300
(LI (37 F 2%) 2872 | 288 8,700 76%
2876 | 28 12400 66%  73:11,900. 411,900, £:14,800
HARFTFR =WE fuase [ JL2oo1 [ 288 8,700 75%
[JL2903 | 288 9700 | 72% 9,800
[UL2905 | 288 9,000 | 74% 9,700, F9200
[JL2907 | 288 13400 62%  F:12,900. %:12.900, £:15,800
2909 288 11,800 66%  X:11,300, £:14,800, 1:12.400
(LIS (37 F %) #_JL2000 | 288 9,700 72% _ £:9.800
10,100 71%  +:10300
11,300, £:15,900, +:12,900
HRFTR) LS £:15900, +:17.300
%:16,500, £:17.900
BE=-TE%
BE=-E
19,000, £:19.000
118,800, +:19.000
1Bm=378
BE=E
TBmE=A5
ARFTFR)-BEF  RLIEGITR)
A% | J ]2
TR [ J ] L1
—— T T 1
AREFTFR) =R pLIEGITR) | L1
73 1
FE=HE [ J ] L1
HEE 1Y 1
Wa=HE [ fus® |J ] L1
HEE | |1
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[=40] B4 FFIMTAGALt—IL) #FITBEALt—IL)
T g BED " 0 amm wx
MAME T giEE sAME 77
wR-1EE [ #Ez 2645 | 28E A 400 69% p—

[ L2646 | 288 400 69%
WA WER 2603 | 28H 600 48%
2607 | 288 100 50%
mAR 2602 | 28H 100 50%
[JL2606 | 288 13600 48%
WE% | Ji2625 | 288 9000 | 58%
EE%E | JLo624 | 288 9,000 58%

WA mpEs [ J12633 [ 288

EHE
ZEEBOMR)=IR  REECMOR JL4321 | 288

[ITZ 23 W

ZEEUMR=TEE BEECMOR Y

TEER

BEEOM=-FH RBEEUMD)

EHR [ JLad62 | 1
[JLades | 2817 1
468 | 28
LR (B3 =8R8 FLIR(E3%) % [ JL2sel | 288 1
[JL2863 | 288
[[JL2ses | 288
[JL2869 | 288 £:9500
#igEs [ JL2s60 | 28H £:11,800, £:11,800
[JL2862 | 288

#:11,800, £:11,800
[[UL2s6a | 288 11800 50% 5:9500
2868 50% _ 3:9,500, £:9,500

AR (EH)=RR ALIF (F3%) % | JL2895 62% 27,000
HRR 62%  :7,000
AR (B3 =B IR (EH) % 50%
50%
50%
[ 50%
[J 50%
[ 50%
604 £:8800
HER ] 7.900  60%
50%
50%
50%
[ 50%
[J 9, 50%
50%
AR (B30 =FIR IR (EH) % 1 58% | #:8900, £:13200
1, 58% 3.200
FRE 1 58% 208900, £:13200
1, 58%  +:13.200
BEfE=ER BufEsE | J 66%  £:7,500, +:4,900
AR%E [J [ 6 66% #7500, 1:4900
AWER-ZR | (EHE 1 50% 210,000, +:10000
=3 1 59%  £:10,000, +:10000
AR (B3 =25 IR (EH) % 70%  1:8,900
[ 71%  +:8900
T@AFE | JL2720 | 1%
7i%  £:8900
TR (=% 50%
514
51%
50%
IR (FFRH=HE 1 58%
14300 40%
61%
; 61% %8900, F8,900
HER 61% £:8900, 9,500
. 57%
[J 58%  1:9.300
[ 58%  +:9300
RE-HE [y ] 20200 35% _ J:20,800, £:20,800
[ 100 39% | f3:19,700. %:18.200. F:18.200
[J 100 39% #:18,800, £:18.800
[ 200 35%  £:20800
BmE-EE [

FBm=HAL [
wg | J
EE-EE wmmE%E [ JLse21 | 288
[JL3625 | 288 7K:7.800, 77,800, £:7,800
[UL3620 | 288
[JLa63i | 288
[UL3633 | 288
3639 | 28 77,800, %:7,800
3641 | 2880
=& [ JL3620 | 28H
[ JL3622 | 28EHAT 7 47,800, +:8,800
[JUL3626 | 288 47,800, +:8.800
[ JL3630 | 28EHAT 7 7,800, +:8,800
[JL3632 | 288
(L3634 | 28EH] 7 7,800
[JL3642 | 288 . 7K:7.800, 77,800, £:7,800
ER-ERE [ JL3653 | 28Hf ¢
EREF 3654 | 288
BERE=L [ EREX 3687 | 28HA | 1
I 3686 | 28
BRE-ETSE BERESR 761 | 288
3763 | 288 )
[ULazeo | 28EM ¢
777 | 288
BTB% [ JL3760 | 28HF] |
[UL3762 | 288 X
[JL3768 | 28R ¢
772 | 288
ERE-EXXE ERB% [JL3725 | 288 16 17,500
721 | 288 Il
[JL3727 | 28H 16
[JL3720 | 2881 14
731 288
[JLazss | 288
[JL3735 | 288
[JLases | 288
737 288
EEREH [ L3722 | 288 6%  £:15900, £:15900
[UL3724 | 288 49% 215200, +:15200
[JLa726 | 288 46%  %:15900, 3:15900
[UL3728 | 288 600 | 49% %:15600
730 | 288 400 | 42%  £:17500
[[UL3a6a | 288 400
732 | 288 400 42%  %:17500
[UL373a | 288 16,400, £:16,400
738 | 288 14,600, %:14,600
ERE-EZE ERER
EER 1
ERER
AR (FE)-E& [EECHE) % [ 21,900 68% 237,200, £:37,900
EER 21,900 68%  J3:36.700, 1:37.300
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TH, wmm IEE [T} The URE W
BAME LIk mAME 77
R CHE)=XR (B | RECHE) % 28BF] | 7.000 75% :teunu o
28EHI 9700 | 65% +:11.300, H9.100
28 H B 14,500 48% B 14500 48%  A:15,100, 215,100, £:13,300, H:11,000
EMHO& +:12.600, H:10900
12,900 54% 14,000, #:14,000, F:12,600, H:10,900
9000 | 68% | +:12,600, H:8,000
12,500 55% :13,000, 13,000, F:11,200, H:10,900
8000 | 71%
ZBE“E\ 11,300 59%  Ak:11.800, #:11,800, F:11,200, H:10,900
28EH] 12900  54% A:13,300 %:13,600. +:10900. H:11.200
285 | 0000 | 68% |+:8000, H:11.700
28 B8] 3:13.500, A:14,500, 14,500, £:10.900, H:12.400
:13,500. I'\ABDD £:14,800, +:10,900, H:12,600
13,500, :14.800, %:14.800, +:10900. H:12,600
28 H B 13,600 51% 3,500. 14,800, 14,800, £:10,900, H:12,600
KR () % 28ERT | 8500 | 69% +:11.000, H:8.600
28E B 13,600 51% E\ABDD j:HDDD H:8.800
28EH] 13600 | 51% j:14,800, +:11000. H:9,600
zaaa 9500 | 66%
Bl | 12900  54% :11000. H9,600
ZBEE 12,300 56% 000, H:9,600
28EH] 11800 | 57% 00, H:9.600
00
1400, 11,400, £:11,000, B:11400
400, 711,400, F:11,000, H:11,400
400, :11,400, £:10.800, H:11400
800, H:12,800
00, H:13.100
900, H:12,800
00, £:8.000. H:12,800
(AE) =Xk (B&) |RR@E) [ _J 200
[CuL225 0500
[JL229 1,000, H:8,000
KBR (B7E) 5 | _JL220
[Jr224
228
R (3 F %) L501 | 0,000, £:17,300, +:19,500
503 1,000, %:18,800, :20500
505 0,100, 22,700, H:11,900
507 0,800, F:23,700, B:11,900
509 1700, F:24,200. a o
0,300, F:23,400, B:16.3
119,700, +:22,200, B:18,
9,700, F:20,100, H:19,500
ZBE“E 15,100 83% 19,700, £:19,000, H:21,000
28E 8 | 13600 | 67% F 3,500, %:19,700, H:21,000
26E] 13000 684 2,900, £:19,300, H:21,200
[[JL523 | 28HRT | 12000 _ 71% 1,900, £:19.300, H:21.200
[JL525 | 288 | 11,000 | 73% 10,900, £:20.300, H:21,700
[JL527 | 28E#T | 10000 76% 900, £:22.300, H:21,700
[JL529 | 28Ef | 9500 | 77% 400, 422,100, 8:19,300
531 | 28ERT | 9000 78% 8,900, £:20,000, H:16,500
FLIE (BT F ) %_JL500 [ 26HIAT | 10900  74% 7 1,000, %:18,000, +:19,300
[JL502 | 28H AT | 11900  71% 2,000, %:19,500, £:19.900
[CJLs04 | 28EHT | 12400 705 3 2,500, 4:20,000, 20,500
[JL506 | 28H AT | 12900  69% 3,000, %:20,000, £:20,000
|_JL508 28E B 15,000 684% :16,000, %:20,000, F:19,000, H:20,000
28171 | 15000  64% 6,000, 2:20,000, :19,000, H:20000
:16.500, %:20.300. 8,100, H:21,300
17.300, $:21.100. 3:17.500, H:22.600
1,800, F:16,000, H:23,200
[ 5,000, %:22,000, £:13,000, H:22,600
[CuL520 14,500, £:22,000, £:12,500, H:22,600
[uL522 000, $:22,000, +:12,000. H:22,600
[CuL524 000, 421,300, F:11,000, H:22,300
[JL526 0,000
[CJis28 9,500
530
FR (M) % |_JL303 |
[JL305
[ JL307
[JL309
22,6
21600, £:21.600. B:19.
ZBEE WBDDD 60% 900, H:20.200
[ 28EH] 17100 | 62% 000, H:19,.800
[JL323 | 28 EE[ | 13000 | 7i% 900, 20,700, B:19,600
[JL325 il 400, H:21,500
[ L327 | ).700, £:24,000, £:19.900, H:23200
[JL329 900, %:16,000, H:15,900
[ _JL331 | 100, +:19,200, H:23,500
[JL33s 900, %:16,000, H:15,900
335 600, F:19.200, H:21,900
@E%E | JL300 000, #:16,000, :16.000
[uL302 000, 416,000, F:16,000
[uL304 200, B:17.600
[JL306 :24,200, H:18,500
[JL308 | 28HAT _ 22800  50% 300, B:18,500
2555 12,900 000, 16,000 F:16,000
£:20300. H:20.100
300, H:20,100
900, $:21.60¢ 2,700
| J K:20,700. 23,700 20,300, H:23200
[CuL320 500, H:23.200
[ _JL322 | 800, 1:20,300, H:24.800
[CuL324 800, H:24.800
[JL326 | 800, H:24,800
[uL328 900, %:26.,000, H:24500
{JL330 | 600, B:21,000
[JL332 900, %:16,000. H:15,900
CRIE) =41 (BR8) | F= (M) % [_JLo01 | 000, %:21,400, £:21,400
[JLo03 17,000, %:24.100, F:24,100
[JL905 100, H:20,100
[JLeo7 1,100, H:20.100
[JL909 23,300, £:20,100
3,300, H:19.900
17,700
[ 1,000, 7:12,000, %:14500. F:13,500
[CuL923 0000, 11,000, %:17.400. £:18.700
[JL925 000, :10,000, £:28.200. F:18,600
40 (BRER) % [ JLooo | 200, X.:9.200, H:9.200
[JL902 800, X:9.700, +:13,800 EH7500
[uL904 800, 49,900, F:13,800.
[JLo06 900, £:15300, EI.19 20
[CJLo0s 900, F:17,200, 520,600
300
300
800, B:23.300
800, H:23600
[ 16,900, £:20200. H:24,100
[JLe20
927 X
KR (7 =#LIR (3 F &) | KB (F#7%) % [ L2001 | 285AT | 14000 ~ 73% 7 900, H:13,900
[[JL2005 | 28E#T ~ 18200  64% 4 600
|_JL2009 E 11,800 7% 200
2019 | 28EH | 14000 | 73% 900, £:17,600, H:23,100
(LI (37 F &%) H_JL2000 Lau_umn 7% 100, H:14,300
[JL2006 16600 67% 300
[UL2010 zaaa 13000 | 75% 900, X:9,900, 7K:10,000, B2
[JL2016 | 28E8 | 13900 _ 73% k:11.000 :14000, $:14000, £:14;
K (BE#E) =#LIR (3 F #%) | ARk (B§%) % [ JL2501 | 28 | 11.900 ~ 77% A 12,000 ﬁ\aooo £:13,000
2505 | 28EH 11200 78%
[FLIR (37F ) #|_JL2504 | 28HRT 12300 76% 700
2506 11,900 77% 000, 7:10,000, £:12,000, F:12,000. H:12,900
KR () =4 (BE) | KR (PR 2081 _H_W,M 900, +:20,900, H:19,100
[JL2087 | 288 9900 77% 000, £:10,000, %:13.600, :13,600
AL GHVER) % | JL2084 | 28 E1E | 10000 | 76% 3,600, 49,900, B:13,600
[JL2088 | 28HAT ~ 19700  63% 900, H:21.900
EE=AR (T &) TR 3513 | 28R 20900 67% 900, 7K:14,000, A:14,000, £:22,600, H:22,100
3515 | 28EAT  17.300 | 73% |X:13.900, /K:14000. A:14,000, +:20,300, H:18.200
(LI (37 F 2%) 3510 | 28EF 10200 704 413,900, K:14.000, :14,000, F:18.200, H:20.300
[JLa512 | 28HAT _ 20900 67% 900, 7K:14,000, :14,000, :22.100. H:22,600
R R (FIE) %[ JL565 | 26HF | 9900  80% 7K:10,000, #:10,000, $:10,000, £:11.000
[JL567 | 28HAT _ 18300 6% 00, +:21000. H:21,500
[JL560 | 28Ef] | 14000 | 72% 900, 13,900, B:13,900
Zi@p% | JL562 | 28HFI | 14000  72% 5:13.900, :X:13.900, H:13.900
[JLS64 | 28HF] _ 19200 _ 62%  :19,500, £:21,300, +:19,000, H:21.300
566 | 28ERAT | 9,600 | 81% :9.900, X:9.500. £:10,000, F:10,000, H:10,900




TRBEIBI(ZA Lt—IL)IEER(11A13~19BEFESD)

SEEEAE : 2022/10/06 ~
T1/13-19
4] fiE ERIMTAGALE—IL) FFIIBEALE—L)
way  OEM [T} The URE W
EHES BAMER
R CRE) =)l W (FM) % [ _JLs51 | 9,500 80% 9,600, 7:9.600, £:9,600, £:18,500 -
[JL553 16800 66% 500, 7k:14.,500, %:18,500. +:20000. H:18,500
[CUL555 B | 12000 75 900, 11,900, B1:11.90
[JL557 EEl | 17000 65% 9,500, 14,500, H:19,500
FEIES | JL552 B 13,000 73% 500. I\IKGDD £:18,500, +:19,200, H:17,500
[JLs54 ZSElnu 12000 75% 00, X:11.900, H:11,900
[JL556 5
558
TR CRE)=8IER R (PE) %
28EH | 11000 | 77% 900 X:10900, H:10900
28E B 19,000 60% (18,700, 7K:18.700, %:19,300, £:18,000, H:20,500
El=ES PEELT 00, :20300, 1:20.800
900, 10,900, B:10900
28EH] 9600 | 80% 5:0500, X:9.500, H:9,500
R (AB)=HE R (TE)F[ U573 | 26HF [ 9600  80% F:9,500, X:9,500, H:9.500
[JL575 | 28HAT _ 20300 _ 57% k:18,600, /:18.600. +:18.600. H:20,600
[JL577 | 28 Ef[ | 11,000 | 77% 7:10,900. 410900, H:10900
579 | 28ER 16900  64% 600, %:18.400, F:17.100. H:19,500
WELHE [ JL570
[JLs72 | 26 E% | 11,000
|_JL574 28E B 17.400 83%
576 | 28ER] | 9600 | 80%
R CHE) =B R CHE) $ [ JL585 | Ll 5&&%@000 £:20,600, £:18,700
[JL587 00, %:18,300, +:18.900. H:18,100
[JL589 2,900, /12,900, H:12,900
EES | JL584 ZSEInu 13,000 2,900, :X:12.900, H:12.900
| JL586 28E B 18,400 53% 18,600, 1:17.600, H:20,900
588 | 28EF | 15000 _ 61% 4,900, ¢:14,900, H:14.900
R CHE)=H R CHE) % 28E1H | 11900 68% 2,000, #:12,000, £:12.000, £:15,000
ZSElnu 16500 56% 5300, H:15.300
:15,000, 15,000, F:15,000, H:16.500
500
900, 0,900, H:9,000
900, X:8.900. H:8,900
HERE 400, X:8.900, H:9.400
(:9.900, H:11,900
16,500, +:16.500, H:16,500
500, £:14.100, H:17.500
28 H B 16,500 56% 500, +:14,100, H:17,500
28EH | 12000 | 68% J 900, B:15,000
R CHE R CHE) % 25551_9‘M 500, £:9,500, £:11,900
28EHT 11900 67% :16,000, :16,000
28 {I 11,900 87% 16,000
26E8 8500 7
28E B 16,000 56%
28EH] | 9500 | 74%
28BF] 11900 67%
28EH] | 9500 | 74% X:9.400 %:16.000. H:11,900
R CHE)=HE R CHE) % 28BF] | 9000 _ 70% F mesuu B89
B 18100
RER
TR CRE) =1L R (PE) % I L9
[z 288 11000 _ d6%
28EH] | 7500 | 63% H:9.700
R CHE) =/ R CHE) % 28EH] | 9.000 67% 900, 8,900, +:10,300, H:8,000
28EHT 10900 | 60% +:12.300, H:8.300
2555_._9,w3m) £:8.300
28E 8] 9800 | 644 +:8.300. H:9.500
28EH] | 8000 | 70%
28EH] | 7.000 | 74% 8000
A 28R | 7,000 | 74%
28EH] | 8000 | 70%
2aEu_9,am)—m:taann 58,300
28EH] | 9800 _ 64% +:8300, H:10300
ZBEum—MDQDD +:8300, H:12.300
28EHT | 9000 | 67% H:8900. %8900, £:8,000, H:10800
R (AE) % 2aEu_m,wzann £:22,800, £:23,300, H:22,300
28EH] 19100 | 47% $:21.800, +:22300. H:21.300
284 | 10000 | 725 £:13000
FRERR 28HFT | 10000  72%
28E B 20,200 43% :21,300, +:21,300, H:22,300
28EH 20800 | 42% | H:22.300, $:22.800. F:22.300. H:23.300
R (FHE)=FW R (AE) % 28R 12800 | 65% +:13.400, H:13300
28EH] | 9600 | 74% |B:0500, 9,500, H:9,500
28EH | 0600 | 74% 500, X:9,500, H:9,500
28EH] 15000 _ 60% 3,800, H:13.800
28EH] | 9600 | 74% 50500, X:9,500, H9500
=TS 28E1E1 | 9,600 74%  H:9.500, :X:9.500. H:9.500
[[Jio34 | 28Ef | 0600 | 74% 500, X:9500, H:9,500
236
240
247
WRCAR)=EE FR (AM) % [_JL253
[JL255
[UL257
[JL259 il :9.600,
261 | 28B4 9700 | 74% 600, X:9,600, H:9,600
[[JL263 | 28HAT 13200  65% 3,600, H:13,600
[ JL265 | 28EIA 15500  59% $:16000, £:14.100, H:14.100
267 | 28EF | 9700 | 74% H:9,600, X:9.600. H:9,600
257 600, X:9,600, H:9,600
254 | 28ERT 15500 _ 59%  F:14.100, B:14.100
256 9 9,600, H:9,600
258 | 28ERT
260 s gssuu 5:9,600
262 £:14.100, B:14,100
264
266
291
293
295
[JL207
LOF8% | _JL200 | 26B 0800 700, 49,700 EI:97DD
[JL292 | 2687 | 9800 700, X:9.700. 9,
[CuL204 25an 9,800 700, 9,700 :thuu Enuoo
296 | 28ERT 14700 | 66%  H:18,500, +:19.400, B:1
R (FE)-HE R (AE) % 277 | 26EE] 18100 49%  K:19.200, %:19,000. :-wsoo
[[JL279 | 28HHT _ 20700 424 0,500, %:20,500, :20,600, B:19,600
[JL283 [ 28HF] _ 17.000 _ 52% A:17.100, %:16,700, £:17.200
[JL285 | 28HAT | 11500 68% 1,400, X:11.400, H:11400
287 | 28EI8T | 11500 | 68% 1400, 411,400, B:11.400
HER 276 | 28EFT | 11500 _ 68% 1,400, X:11.400, H:11400
[CuL278 il 1400, 11,400, B:11.400
[JL280 | 28HAT _ 17000  52% 17.200, 7K:17.200, A:17.100, %:16.700. F:16.700
|_JL284 28E B 21,200 40% ‘ WDDD IZDH)D ﬁZZDDD +:19,700, H:22,700
286 | 28EIRT 20000 _44% k.20 0,100, %:20.200, £:19,000, H:20500
RECHE)=# S FR (A %[ _JL453 | 26E R 9,000 75% 900
[JL455 | 28HAT 15200  68%
[JLaso | 28Ef | 9000 | 75% 900, X:8.900, H:8,000
[JL461 | 28H AT | 9,000  75% 3:8900, X:8.900. H:8.900
|_JL463 5,200, +:13,900, H:13,900
465
ERE [ 452
[ JL454 |
[ JL456 |
[ JL46O |
[ JLa62 |
4
R CAE) =B ESAEE:ES 5 %uenn 14,600, H:14,600
7 16400 55%  £:16900, %:16.900. H:15.300
9 9800 | 73% |H:0700, X9.700, F:13.400, E:13400
[JLast ZSElnu 13400 63%
[JLas3 | 28Ef | 0800 | 73% 59700 9,700, B:9.700
485 | 28ER | 0800 73% 59,700, X:9.700, H:9,700
487 | 28EIMT | 0800 | 73% 700, X:9.700, H:9,700
IR 474 | 26EFI | 9800 73%  H:9.700, :X:9.700. H:9.700
476 | 28EI4T | 9800 | 73% 0700, X:9.700, H.9,700
478 | 28ER | 0800 | 73% 59,700, X:9.700, H:9.700
[ Jiaso | 28EIA 13500  63% $:15.100, £:14.900, H:15.100
[[JL4s2 | 28HAT | 9800 73% 700, X:9.700, 115300 S
[[J4s4 | 28BN 17400 524 £:17.900, +:15800, B:179:
486 | 28ART 16900 | 54% | %:17.400, £:14.700




TRBEIBI(ZA Lt—IL)IEER(11A13~19BEFESD)

SEEEAE : 2022/10/06 ~

T1/13-19
4] fiE ERIMTAGALE—IL) FFIIBEALE—L)
i [T} The URE W
AR EJE AR
RHE(FE R (AE) % 491 | 28Hf] 9500 _ 75% 59,400, X:9.400, H:9.400 —
[(JL493 | 28HAT ~ 15500  60% :15600, £:15.600, +:16.100. H:15,000
|_JL495 ZBEE\ 12,700 67% _#:14.700, 1:14.700, H:14.200
[CJLae7 9500 | 75% 739,400, X:9.400. H:9,400
[JL499 9500 | 75% 400, 49,400, B:9.400
‘A% [ JL490 9,500 75%  H:9.400, :X:9.400. H:9.400
[CuLag2 DR O :9,400, B1:9.400
[JLass 14100 | 645+
[JL4g6 9500 | 75% anu gsauu Elwuu
498 17400 | 55% 900
R CHE) =#al ESAEE:DES 431 14,200 64% 300
[JLa33 16800 | 57% 800
[uL43s 10100 | 74% 800 FI.15,800
[JLaar 13800 | 65% 300
[uL439 10100 | 74% - g :10,000
[JLa43 10100 74%  H:10000. X:10000. H:10,000
FRLFE [ JL430 10100 | 74% B:10000, X:10000, H:10,000
[JLasz 000, %:10,000, B
[uLasa 5
[JLa36 00
[CJLass H:17.900
4 N 0
WRCAR=EAM [RRCHE) % 900, +:18.900, B:
900, 410,900, B
AT
ZBEE 17EDD B 17,600 61% 220,500, £:15,900, H:19,400
28EH] | 11,000 | 764 H:10,900, X:10900. %:13,000. H:12,900
R CHE) =K% R (PAE) % 1 3,000, 7:13,000, %:18,300, £:18,300
[CJL663 | 288 ).400, 7K:20400, A:21.700, %:22.100. F:23,500
|_JLEBS SDD I'\QADD ﬁ'\QQDD +:19,100, H:18,800
[JL667 | 28H AT | 11000 75% 90 2,900
[ JL6BY ZBE 21,400 51% EDD QH)D \7500 19,400,
671 1000754 A 0500 JeT0500. 5000 B17500
A% | JL662 10900 | 75% 000, 711,000, 11,000, F:13,000

[uL664 17600 60% 00, 7:18,000. %:20,000. F:20,600, B:17.,500
[CuL668 11,000 | 75% 900, 10,900, B:12,900
670 BEl | 19000 57% 800, 18,800, H:21.200
672 28E B 20,900 52% H:21.400. IZ\ 100, £:21,500, H:24,600
[uL674 13000 70%  H:12.900. J:12.900, %:19,900, H:24,000
R CHE) =R R CHE) $ [ JL605 | 73% :13,000, 7:13,000, £:18,500, +:20.40¢
[JLe07 50% 00, 7K:18.900. %:20.700, F:22,600, B:19,500
[ JL609 300, #:19,500, H:20.200
611 [ 28Ef1 11,000 10900, 10,900, B:12.900
613 28E B 18,800 300, £:20.200, H:23,400
615 | 28EF | 11,000 +10,900, 2X:10.900, %:13,000. H:12,900
] 000, 11,000, 411,000, F:13,000
800, 7K:15.800, %:17.300, :18,700
610 900, 10,900, B:12,900
612 00, :21.900, %:22.400. H:25,000
614 ZBEE 21 SDD 56% 400, :21,900, £:22,400, H:25,000
[JL616 | 28H AT | 13000 _ 73% 900, 412,900, £:21,300, H:21,800
R (RB)=IRA R (FIE) %[ JL623 | 26HM | 8900  80% 7K:0.000, £.9,000, £:12,000, £:12,000
[(JL625 | 28HAT | 12900  71% 3,000, :13,000, %:17.700, £:20,900
[_JL627 28E B 18,800 58% 9,100, £:20,200, +:21,200
[[JL629 | 28HAT _ 18800  58% 9300 +:19.100
631 | 28EH | 10900 _ 76% 000, 711,000, %113,000, £:13000
633 | 28ER  17.100 _ 62% 00, +:17.400, H:19,200
637 ZBE“E 17,100 82% 7,300, £:17,800, +:17,600, H:19,400
[JL639 | 28H AT | 11000  76% 0,900, %¢:10,900, %:13,000, H:12.900
WA | Jbzz | 28EHE | 10000 7% 1,000, A:11,000, 11,000, :13,000
624 18800 | 58% 00, +:20.700, H:19.300
[ JL626 ZBEE\ 18,800 58% 0,200, +:20,700, H:19,300
[ 0,900, %:10,900, H:12.900
[ 19,500, H:20.200
00, H:20200
8,400, A:18,400, £:21,300, H:21,300
633 | 28E18 | 13000 715 _F.12.900, 4:12900. 20,400, H:20400
R (FE) -5 FE(HME)F|_JL687 | 28HA] _ 12,900 7% 3,000, A:13,000, %:17,200, £:17,300
689 Fil 00, +:17.500
691 5,300, £:17,300, +:17,300
[JL693 0,900, 10,900, B:12.900
|_JLE9S 5,200, H:18.300
[JL697 0,900, ¢:10,900, %:13,000, H:12,900
EEE | JL68s | 11,000, A:11,000, %:11,000, +:13,000
[JL690 15.200, 7K:15.200, #:15.200
[uL692 10,900, :10900, H:12,900
[CJL69a 00, H:17.500
|_JL696 5,300, £:17,900, H:20,300
[JL698 2,900, :12,900, %:17,800, B:18,800
TE-ERE [RRCEE)® 000, £:12,700. £:15500
12,600, A:11.700, %:15.600, F:17.500. H:12.700
AMMM 600, £:17500
X £:17.100, B:12.200
1.1 WDD 12,200 ﬁ\G\DD 16,100, H:12,200
[ 0. 9,900, %:15.100, H:13,100
[ JLes3 | 4,600, +:14,600, B:11,700
655 :9.900, %:14,600, 11,700
ERER
5,100 £:16.100
5,100, +:16,100
900, X:9.900, H:12.200
| JL64 4,700, 7k:14,100, #:14,700, £:18,600, H:16,600
[uL650 00, 7K:14.100, :14.700, %:18,600, B:16,600
[ JL652 28E B H7DD 76% :11,100, 15,600, F:12,600. E\JSDD
[JL654 | 28HAT _ 10700 _ 78% 0 1 o
[ CHm) % | JL659 | 28EfT 28200 | 514 [
[ JL658 | 28HAT _ 28200 5% 8.700. :17.000. :17.000. Emmo
FNACISE 3 | 28EH | 16700 | 64%
=i 4 | 28EFT | 16700 | 64%  %:17.500

RIR (=B ESACTES 28EA] | 12300 705 H:15300, X:15300, H:15600
28ER1 | 10900 73%  H:14.100, X:14.100, H:15.100
28EA] 16600  59% H:18200

HER 28E1H1 16600 59%
28EH] | 10900 | 73% | B14100, 14100, H:15100
28EH] | 10900 | 73%  H:14.100, X:14.100, H:15.100
IR (RFH=7E% KB (FRF) % 28EIf] 26500 39%

28BF] | 27500 37%
288 | 27500 _ 37%
287 | 24800 43%

TEER 28E B 23,200 A4T%
28 BB 27.500 37%
6 37%
2190 37%
(P AD=I0T | AR (G736 [ L2233 | 28AH 16200 594
[ JL2235 | 28 B3R 17.200 56%
2237 | 28 B f 18,800 52%
ItZ3 [ JL2234 | 28 B8] 18,100 54%
| JL2236 ZBE“E\ 18,400 53%
2238 | 28B1 R 18,000 54%
B (A =lE KB (74 % [ L2201 | 288 L] 9.200 76% 210,300, A:10,300, H:10,400
[ JL2203 | 28H 15,300 60% _ :15500, £:15.500, 1:15,500, B:14.500
|_JL2205 28E B 15,400 59% :15.800, #:15.900, F:15.900, H:13,600

2207 | 28EH] 15900 58%
55% JK:18,300, %:18,000, :18,300, H:18,300

55% K:18.300, $#:18.000, +:18.300, H:18.300

51%

69% JK:11.100, :10.800, %:11.100, £:10.100, H:12.300
73% K960, A:9,600, £:9.600, F:10,500

77% _ H:10.500, X:10,500, H:10.800
%

IR (BF=%R KB (75 %

%
70%  F:12,700, X:12,700, B:12,700
61%

55%  H:17.200
66%  3:15.100, :15.100, H:16.200
64%  H:15300, %:15,300, H:14,300

70%  H:13,800, 13,800, H:14,000
6

BR (5 =#210 KB (75 %

FALFE | JL2302 | 28EF] | 9,600 £:9.700
2310 | 28EAT | 11500  45% 7K:11.800, 7:11.300, #:11,300, £:10.100




TRBEIBI(ZA Lt—IL)IEER(11A13~19BEFESD)

SEEEAE : 2022/10/06 ~
T1/13-19
= EF/ITABALE—)L) FFIIBEALE—L)
way  OEM [T} The URE W
EEIES AR
R(FR=K5 | AR (G 59% _7K:7.000, 77,000, #:0.400, F:9,400, H:10,400 —
56%
71% _ /9:0.800, J9,800, B:11,100
EES 63%  7K:7.000, A:7.000. $:9.000, £:9,000. H:10,800
71% 700, X:8,700, H:10,800
56% 5300
IR (=R KB (FRF) % 75% 11,400, A:11,400, H:11,400
4%
84%
75%  H:10,500, J:10500. H:11,400
RBE 75% _ F:11400, X:11.400, F:9,100, H:11,000
75% _ /:10,400, J:10400, £:8,100, H:11,500
64%  %:13,200, B:13.200
IR (RFH =X KB (FRF) % 56%  #:12,000, £:12,900, H:12.900
5%
51%
55%
66% _7K:0.600
AR 66%
66% +:13.100
51%
66%
5%
R (=28 KB (FRF) % 76% :9.700, :X:9,700, H:9.70(
ZSElnu 9700 66%  F:15.300
ZBEE 9,700 66%
28EH] 9700 | 66%
28R | 7,000 | 76%
R | 28E#1 | 7.000 76%
[28E8 9 E\ 9,700 66%
28EHT 9700 | 66%
28R | 7,000 | 76%
[28E8T 9700  66% %14
R(FM-ERE |[XAREFME 28EIH 12700 [ 28EH] _ 12700  62% %13 134nn £:13400
[28ERT | 12700  62% 138
ZBEE 12,700 62% H: WSBDD
409 | 28EH] 12700 62%
28EH] | 9700 | 71% F:11300, J:11,300, H:11,700
28EHT 12700
ZBEE 12,700 82% H:12,900
28EH] | 9400 | 72% H:10900, J:10900. H:12,600
ERER 284 | 0400 725  F:10800, X:10800, 9500, H:11300
[28ERT 12900  61%
28E B 12,700 [ 28E#] _ 12700 62% %:12.900. £:12,900, H:12,900
28EH] | 9400 | 72% H:10900, X:10900. £:9,500, H:12,100
ZBEE 12,900 81% EI\ASDD
12900 61% 4,50

2555 14200 | 57% iwsmn £:14700, B:15.100

28ER 14200  57% #:14700, £:14.700, H:14.700

B () =AU (3 T A & B2 (P B)

25 B | 13900 70%

B | 13900 | 70% k14000, 714,000, %:21,100, F 21,700, H:17.200
200

13700 | 70% 00, +:14200, B:1
2555 9900 | 70% 0,000, :10,000, %:14,400_ F:12,100, B:10900
LIS (37 F i) 0,900 76%  7k:11.000, 7:11.000, #:12,000. £:12,000, H:14.200
60% 219,000, #:19.300, F:18.100, H:20,300
B 17 62% _ :18,000. %:18.300, F:18.100, H:20400
R CHE)=RE R CHE) % 7500 49% :48,600, 250,600, +:50,600, H:38,300
7900 | 75% 7K:18,000, A:18,000, %:18,000. F:25,000
BER 8000 75% 517900, K:17.900, +:265000, H:24,900
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| J 9,900, #:19,900, £:21,900. 122\00 45T 14,000 2%
TREAE | J 9.200. A:19,500, %:21.300, £:19.200 458 | 14000 | 72% A
£:19.500, £:21,300, H:21.300 [ 45E1F] 17900  65%
5662647 110,000 6015 15,100, :13,000, %:17,000. F:15.400. H:11,000 45B %] | 10000 | 80% |5

1 261
112,600, 9,900, 7K:10.100. Ellzsuu
300, B:21800
k13,500, 7&:14,000, F:17,200. Elluuu
900, K: X

313,900, K:13.900, H:13,900

J¢:11,900, A:10,000, B!
800, £:20,800, H:18,100
00, #:10,000, $:12.600,

900, 7K:16.200_ A14,000 :tzueuu H:20,000
500, 7:14,000, +:14400

20,000, H:20,900
n 000
. £:19.300, $:20.800, B:20200

000.

3,900, X:13,900, H:13,900
8,400, £:20000, +:18,700, H:20,000

900, J¢:9,900, 7:9,600, H:10.900
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= E4 ERUTAGALE—I) _ FB/IIBEALE—)
ama | 300 [T} ! W
TR CRE) =Rl R (39E) 5 [_JLss1 | 9,600 80% 1500, :11,500, %:16,000, F:19,000 4 k:9,600, £:9,600, £:9600. 17500 |
[JL553 17000 | 65% k:15,500, K:15.500, :19.500, £:18.500. B 45EH] 15000 69% 14000, k14000, £:17.500, +:18,000. H:17.000
[CuL555 B | 12000 5% 500, :17.000, %: 45EH] | 12000 | 75% 1,900, k:11,900, H:11.900
[uL557 Hff 17000 604 00, +:16.000, B:19; 45Ef] 15500 68% | £:18,500, +:14000, H:18.000
EEIES | JL552 13,000 73% 500, 7K:14,000, % 45 12,500 4% (12,000, £:18,000, +:18,400, H:17,000
[JLs54 12000 | 75% 300 4588 | 12000 | 75% /511,900, X:11900, H:11.900
| JL556 Hi 15,200 89% 500 kil 15,000 69% 317,200, +:16,000, H:18,900
558 | 28E8) |0 600 F:14,100, H:10000 45518 | 9600 | 80% 79,500, %:9,500, 11000, H9,900
RRAD)-HE  |[RRFBD R Ll 500, k21600 | 9,500 80% /K960, K.9.600, £:9600, £:10000 |
00 11,000 77%  5:10900, %:10900. H:10900
18,000, H:20,500 45E 8] 17,900 63% 18,500, +:17,500, H:19,300
SIEEse 300 £:20800 B 18400 62% _ $:19.100, +:19,500, H:18,000
500, +:19,700 11000 | 77% F:10900, X:10.900, H:10,900
9600 80% 59,500, %9500, H:9500
RR(AE)-HE | RRCAE) %[ JL573 | K:15.200, £:13,700, $:1 9600 | 80% | H9500. 49500 H9500 |
[JLs75 600, 7K 18,600, +:19.600, F1:20 zosoo 18600 | 61% 600 717,600, +:17.600
[CuLs77 600, :20,300, %:20,300, F:19,600 45Ef | 11,000 | 77% 5:10900, :10900, H:10900
579 600, %:18.400, +:17.600. H:19,500 16600 | 65% 300, %:17,700, +:15,600, H:19.400
®EFE | JL5T0 300, +:22,500, A 3:17.400, £:19,600, T:21600, H:16,600
[CJLs72 00, £:17.400, % 11,000 77% 900, ;10900 H:10900
[_JL574 100, +:17,600, H:19 B 17,000 64% 18,600, +:16,600, H:18,900
576 B 0600 80% 458 | 9,600 | 80% | :9,500, X:9500. H.9,500
R (P =B R (FE)f[ JL585 | 28HF | 15000  61% 5,000, A:15,000, £:18400, £:21,000, H:18300 |
[JL587 | 28HAT _ 16200  58% ooo ] moo :16.500, 17,700, +:18,600, H:17.00
[JL589 B | 13000 66% 200, F:18,800 :12,900, :12,900, B:12.900
WAER | JLbs4 13000 | 66% 4558 | 13000 664 | 5:12900, :12,900, H:12.900
| JL586 28E B 18,400 53% 45Elﬂ 17,400 55% §:17,700, :17,600, £:18,300, H:19,600
[JL588 | 28HAT | 15000 6% 5 15000 6% A 214,900, H:14.900
R CHE) = R (AE) % 28HF] _ 11000 _ 70% 7 | 458 A1 10900 _ 71%  sk:11,000, A:11,000, £:11,000, £:14,600
ZSElnu 16500 56% 45B 8 16400 | 656%  +:14,900, H:14900
45E A 12,100 67% :14,600, £:14,600, +:14,600, H:15,900
— 45Ef] 14900 60% | H:16800
500 %:17,500. :msoo 45Ef] | 10000 | 73% /59900, X:9.900, H9,900
000, %:17,500. T 13500 B | 9000 _ 76% F:8.900, %8900, H:8900
EHE 000, %:15,000. 45Ef | 9000 76% 58900, X:8900, H:8,900
15,300, %:16.500. 115500 B | 10000 73%  F:0.900, %9,900, H:9900
500, F:16.500. El\ﬁﬁDD 14,600 61% §:12,100, £:15,900, +:15,900, H:15,900
500, F:14.100, 8:17,500 16400 | 56%  F:12.100, £:17.300, 12,100, B:17.300
500, +:14,100, H:17,500 45Elﬂl 16,400 56% §:12,100, £:17,300, +:12,100, H:17,300
000, %:15,000, B:15,000 5 11,000 70% 7:10900. %:10900, H:14600
R CAE ESAEE:ES 000, £:11,900, +:11,900 5 9,400 74%  7K:9500, 9500, £:9500, +:11400 |
000, £:16,000 45EE 11400 69% 15300, k15300, A:15,300
1:16,000 11,400 69% §:15,300, B:15,300
500, EI:16,000 45E18] | 8500 | 77% 78400 %8400, H:15300

ZBEE HiDDD 56%
28EH 16000 56

700
500, 79,500, $:15,300, +:9.500

67% 5:14,100, %:15,300
K 67% 30,400, 49,400, £:15.300, H:11.400
R CHE)=HE R CHE) % 28HF] 9800  68% [H:9,000, X:9.000, H:9,000 3:8,000, k8,900, H:8,900
404 1,500, B:11,500 17200 43% 0700, H:10,700
28EH] 14400 | 53% +:11500, H:11500 4555 12800 58% 0,700, H:10,700
28EH | 10000 | 67% 15600, A:16.100, %:18.100. F:11,500 5 10000 67% 900, ;9,900 H.9,900
HER 28EF] | 10000 67% 7.600, A:17.600, %:18,600, £:11,500 10,000 67% £ 900 X:9,900, H:9.900

28ER | 14400 | 53% 12800 | 58% H:10.700

5|00 +£:10700, B:10700

28EHT 9800 | 684 I Z 5:8.900. 8,900, H:8900
R CHE) =17 R (PE) % 28R 8800 B 6800 574 57500, X:7.500. F:0.300, 8300 57,400, X:7,400, +:8,300, H:7.300

28ERT | 11.000 | 46%

%23 - T TasEm 9900 52%
288 | 7. :10.300, £:10800. T 8,70 45 B 7500 | 63% 57,400, X:7400. H:8.700
R CHE) =/ R CHE) % 9,000, %9000, £:10300. H:8000 [ & 9,000 67% ssaa X:8.900, +:10,000, H:7.900
2,300, B:8.300 45EI||U 10,800 60%  t:i1.7
45Elﬂ 9,400 65% 19000 =] BOOO
9400 65%  +:8,000, H:8.900
255 B 8000 0% z}g 7900 | 71% _K:8,000, 8,000, £:8000, 7,500
28EH | 7.000 | 74% 800, :9.800, %:10900. 1 2300 6900 75%  7K:7,000, :7,000. %:8,000, £:7,000
7 7000 74%  F:6,900, X:6900, H:6,900
7.900 | 71% 7K:8,000, A:8000, 31500 £7500
9,400 65% 9,700. j: 8,000, B8,
B[ 9400 65% X 8,000, B 10000
0. 8.3 H:12,300 45EH A 9,700 64% BOO 8,000, H:1
0. 9800, ﬁwosoo £:8.300__H:10.800 =] 9000 | 67% 58,900, xa‘aoo‘irsaa‘ EI 10500

)-EREE |RRCHE) % 800, 1:23,300, H:22.300 16,700 53% 19,800, £:20,300, £:20,800, H:19,800
300, H:21.300 15700 56%  £:19,300. F:19.800, H:18,800
400, %:13,000_ F:12.200 45EA] | 9,900 | 72% [K:10,000, :10,000, £:12,300, £:10000
ARER 000, H:10,000 458 %] | 10000 | 72% /3:9.900, X:9.900. H 9,900
300, H:22.300 458 16400 54%  3:18,800, +:18.800, H:19,800
800, £:22.300_ H:23,300 458 17400 | 51% 0. %:20.300. F:19.800. B:20,800
RRCAB) =ML | R () 5 300 451 12700 66%
12,800, %:12,800, £:13,000 B 9600 74% 59,500, X:9500. H:9,500
9,600, H:9,600 458 9600 | 74% 59,500, X:9500, H9,500
800 458 13400 | 64% +:12.700, H:12,700
900, 215900, :13,800 45E8] | 9,600 | 74% 59500, X:9,500, H.9,500
3 700, %:12.700. F:13,600 B[ 9600 74% 59,500, X:9500. H.9,500
[z 200, %:14,700, :13,800 458 9600 | 74% 59,500, X:9500, H9,500
236 000, H:13,000 A58 12500 | 66%
240 200, %:14,700_ F:13,800 45E8] | 9,600 | 74% |5:9500, X:9,500, H9,500
[JL242 800, H:13.800 458 15100 | 59% 15,000, :15,600, +:12.700, H:12.700
WRCAR)=EE F (39E) [ _JL253 600, £:13,600, +:14.100 458 9,700 74% 19,600, 9,600, H:9.600
[JL255 600, £:14.100, H:14,100 A58 12400 | 67%  A:12,600, £:12,600, +:13000. H:13000
[CuL257 100 45E 8] 17400 | 54% 7,300, +:13,000, B:13,000
[JL259 400, %:17.400, £:14,100 4588 | 9700 | 74% | 5:9,600, X:9.600. H.9,600
261 100, %:14.600, F:14.400 458 9700 | 74%  5:9,600, X:9,600, H9,600
[[JL263 | 28HAT ~ 13200  65% 600 45B8 11400 | 70%  +:13,000, H:13,000
[uL265 100, 14,100 45E 8] 14300 | 62% 4,200, %:14,800 F 13000, H:13,000
267 700, %:16.300. F:14,100 B[ 9700 | 74% 59,600, X:9.600. H:9,600
257 zaaa 9700 ‘ 13,100, $:13.100, +:14,100 458 9700 | 74%  5:9,600, X:9,600, H9,600
254 | 28AF 15500 14, 100 458 14400 | 62% :14.300, +:13,000, H:13000
256 25an 9700 | 74%  K:13,100, A:13.100, &:13.100, £:13,600 45B 8] | 9700 | 74% |5:9,600, X:9,600, H9,600
258 13100 66% A58 12600 | 67% |
260 12,700, :13.100, £:13,600 458 9700 | 74% A saa 9,600, H:0.600
262 100, B:14.100 458 15400 | 69%  £:16,000, +:13,000, H:13000
L264 | 100, H:14.100 45E 8] 16200 _ 57% swo 216,700, +:13,000, H:13.000
266 700, %:17.200. 14,100 458 | 9700 | 74% |5:9,600, X:9,600. H 9,600
291 700 300 66% /3:13.900, H:15.400
293 | 26 15800 65 9,800, F:16.400. H:16,200 9800 77 700, %:9.700. F:16.100, H:15,900
295 7% 200, 16,200, :16,200, £:16.400 800 Z wa 9,700, H:9.700
[JL207 77% _ 7K:16.200, A:16.200, %:16.200, £:16.400 800 0. X9700. B9700 |
WOFEFE [ J200 | 2868 | © 9800 774 /K:16.700. A.16.700. £:16.700. -1 i 17,200 [ 800 Z wa J9700, 80700 |
[[JL202 | 28E&T | 9800  77% 700, A:16.700, %:16.700, £:17.200 800 700, X:9.700. F.9,700
[CUlzoa | 28EH 16200 624 3:9,700, X:9,700, F:17,100, B:16,100
296 | 28ERT 14700 | 66% F 1:18.200, +:18,500, H:13.900
TR CAED-HE | SR CAE) S| JL277 | 285H1  18.100 495 <:17.400, :17,700, %:17,500. £:17500, H:17.700
[[JL279 | 28HAT _ 20500 424 :19,300, :19,100, %:18,700, +:19.300
[(UL283 | 28H8T 17000 _ 52% 4 <:15.200, %:14,800, +:14,800
[JL285 | 28HAT | 11500 68% 11,400, k:11,400, B:11400
287 | 28EF] | 11500 _ 68% 311,400, J¢:11,400, B:11,400
HER 276 | 28EFT | 11500 _ 68% <:11,600, :11,500, £:11,100, F:11.500
[CUL278 | 28HRT | 11500  68% k.19 9,700, F:20.200 1,400, :11,400, H:11.400
[[JL280 | 28HAT _ 17000  52% 7700 K 17200" xmoo ﬁwsmo £:16,700 100 58% 15500, 7K:15,300, :15.300, %:14800. F:14800
[UL284 | 28ERT ~ 22700  36% 521,000, X:21.600, /:21200. £:20.700, :20.200, £:19.70 19700 45% 5:19.400, A:19,500, +:19.100. H:20000 |
286 | 28ER 20000 _44% 0,200, £:20.100, %:19.400, +:19,000, H:20500 8900 | 47% 7K:19.100, A:19.000. ﬁISIOO £:18,600, H:19.400
R (FE) -5 R (AE) % 453 ZBE B 9,000 75% 5,200, A:15,200, %:15,200. Eil 9,000 75% 8900, H:8,
[JL4ss 15000 58% 00, H:13.900 SEE 11,300 | 69% A:11800, £:11,200, issoo 510,000
[JL459 9000 75%  JK:13.400. A:13.400, 15,200, £:13.900 SEHEl | 0000 758 F:8900, K800, HBI00
[CuL4s1 4,600, A:14,600, %:15.200, £:13.900 9000 | 75% J3:8,000, X:8.900. H 8,900
[uL463 5,200, F:13.900, H:13.900 B 11300 69% A:11.200, £:11,500, +.9900. H:10000
465 00, 7:15,000, %:15.700. F:13,900 458 | 9,000 | 75% | 5:8900, X:8900. H:8,900
BER | JLas2 +13.400, 7:14,100, %:14.100, F:13,900 B | 9000 754  F:8900, X:8900, H:8900
[CJL454 | 28HAT 13400 634 |H B §:8.900, 8,900, H:8.900
[UL456 | 28E AT 13400 K:11,100, %:11,200, F:9,900, H:10000
[JL460 | 28HAT | 13400  63% [3:9.000, X:9,000. H:9,000 4 9000 | 75% 8,000, X:8.900. H:8,900
[CULd462 | 28HRT 13400  63% BB 11,300 69% A:11.100, £:11,200, +:9900. H:10000
4 | 28EHT | 9000 | 75% JK:13400, A:13400, £:13400, £:13900 | 9000 | 75% J:8,000, X:8.900. H:8,900
R EHE TR ERCEE 5 | 6Ef 14000 624 £:14600 14600 B:4600 | Bi 10400 71% :10,200, £:10,300, F:11600, H:11.700
7 16400 | 55%  £:16900. %:16900. H:15.300 B[ 15100  59%  A:14,900, £:15,500, +:15500, H:14500
9 13400 63% 800, 49,800 SEF] | 0800 | 73% 79,700, 49,700, £:11,600, H:11,700
[CuL4st 13400 63% B[ 10800 70%  A:10,500, :10,600, £:10,600
[(JL483 | 28HRT _ 13400  63% |H:9.800, X:0,800, H:9.800 45ER] | 9,800 | 73% 700, X:9,700, H.9,700
[JL485 | 28HAT | 9800 | 73% sK:14.900, A:14900, %:16800. F:13,600 458 | 9,800 | 73% /3:9.700, X:9.700. H.9,700
487 | 28R | 0800 73%  k:17.600, A:17.600, £:18.100. :»u 700 Bl | 9800  73% F:0700, )9,700, H:9.700
%3 474 | 28ERT | 0800 | 73%  5k:14.900, A:14.900, %:16.400. 154 B[ 9800 73% /59,700, X:9.700. H.9,700
476 9800 73%  JK:16,100, A:16.100, %:16.900, +:16.900 B 9800 73% 59,700, X:0.700, H9,700
478 B 9800 73%  JK:13.500, A:13,500, :15.100, 114900 45EI“ 9800 | 73% 39,700, X:9.700. H.9,700
[UL480 | 2BHRT 13500  63% %:15.100, +:14900, H:15,100 10400 71%  A:10200, £:10.300, +:11,600, H:11,700
[CuL4s2 9800 | 73%  JK:14900. A:14,900, :16,000, £:15.300, H:16.100 45E|.u 9800 | 73% 9,700, X:9,700_ +:13,500, H:14.200
[UL484 | 2BHRT 17400  62% 17,900, +:15800. H:17.900 45HET 16000  56%  A:15800, %:16.400, £:14800, H:16500
486 | 28ART 16900 | 54% | %:17.400, £:14.700 4588 16300 | 65% (A:16,100, £:16,700, :13.800
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% %
R CHE HR (CAm) % [_JLa9t E 400 X:9,400, 5:9.400
[CJL4gs 458 10600 | 73%  :10,700, %:10,800, +:10900. H:11,000
[CuL4g5 4555- 12200 69% _z::oo +:12,700, H:12.700
[CuLae7 9500 | 75% J5:9,400, X:9.400. H.9,400
[JL499 sag 9500 75% 5:9,400, X:0.400, H.9,400
BRFE | JL4%0 00, 7:13,000, %:13.000. F:13,500 9500 75% J3:9,400, X:9.400. H 9,400
[CuLas2 14,100, %:14,100. 4S5BT | 9500 | 75% wa x 9400, 519,400
[CuL40a BE | 10400 73% B:10,800
[JL4g6 115,800, %:16,300, F:15,800 B | 9500 | 75% aa 9,400, H:9.400
498 4,100, F:17,900 B[ 10800 72% 900, £:10900. F:11.100, B:11,000
R CHE) =#al R (AE) % 431 14,900, £:15,300 45881 13,300 66% 400, £:14,000, £:14,200
[CuLass 7.300, B:15.800 458 15600 | 60% 15400, £:16.200, +:16.200. H:14900
[JL43s | 288 110,100 45E 8] | 10100 | 74% | /5:10,000, X:10,000, :12,500, H:12.600
[uL4s7 | 288 5300, F:15,300 B[ 12900 67% 700, %:12,600. +:13.700, B:13,800
[uL43o | 288 117,000, %:18.900 F:17.400 45EA] | 10100 | 74% , J¢:10,000, H:10,000
[JL4a3 | 288 8,600, %:19,500, £:16.900 4588 | 10100 | 74% A ;10,000 H:10000
AL | _JL430 | 28H 118,100, %:17.900, F:18,100 45Ef] | 10100 74% A aaa, ¢:10,000, B:10,000
[CuL4s2 | 288 6,900, %:16,900, £:17.400 458 % | 10100 74% /10,000, X:10000. H:10000
[JL43a | 288 14,500, £:15,300. 45EfT | 10000 | 4%
[CJL436 | 288 5,800 H:17,300 BE | 11000  72% A ! X
[uL4ss | 288 117400, %:17.900_ F:16.200, H:17,900 45B 8] | 10100 | 74% A aaa, 10,000, £:15000, H:16.900
40 | 288 4,900, B1:16,800 B 14600 63%  A:14,500, £:15.100, +:13,700, H:15.100
RREE =AM |[RmECHE) F 288 8,900, H:16.400 | 45EA1 17400  62% <£:17900, +:17,900, H:15.400
288 1,000, %:17.900, H:13,000 45B 8 | 11000 | 76% ;10900 H:12.900
285 +16.400, H:1 45HE] 17900 0% 500, +:15400, H:16,500
288 18,900, %:20,600, F:16.400, H:13,000 4588 | 11000 | 76% 5:10,900, X:10900. £:13000. BT
TAME 28 15,600, %:15,600, F:16,900 45EIf] | 10900 | 764 000, :11,000, £:11,000,
288 8.900 5 16,600 63% 000, B:17,900
285 +15.900_ H:19.400 458 16,600 63% 400, F:14,900. B:18,400
288 15,400, %:18.400_ F:13.200, H:13,000 4588 | 11000 | 76% H:109
R CAE) =K% ESAEE:ES 1| 288 118,200, £:18200, £:18000 | 45H/ | 12900 _ 71% 7
[CJL663 | 288 0,200, £:21,900, :21,900, £:23,000 458 18200 | 58% 5
[JL665 | 288 118,600, %:19.900, +:18.400, H:19.200 458 16,600 62% 700, %:17.900. +:17.300, B:18,000
[CuLe67 | 288 , 7£:18,600, %:20,000. F:18.400. H:13,000 45E# | 11000 | 75% 900, ;10900 H:12.900
[CJL669 | 288 17,800 4.19.200, 17,600, H:21.400 Ll 200, +:17,300, H:19.400
671 | 288 200, £:17.600, H:13,000 458 900, ;10900 %:13,000. B:12,1
XAF | JL662 | 288 400, +:20,500 5H 000, :11,000, £:11,000, :tlsuuu
[JL66a | 288 500. 458 16300 | 63% 0, +:17.600
[JL66s | 288 119,200, £:19,200, H:13,000 45Ef] | 11,000 | 754 900, :10900, H:12.900
670 | 288 200, £:19.200, H:21.200 458 17,000 61% 700, %:17,300, :17,300, H:18.100
672 | 288 800, +:21,500. EI 24,600 458 19,000 57%
674 | 288 soo ES 19300 000 45 % | 13000 | 70% A
RE(FE)=-RK§ FR(Am) %[ _JLe05 | 288 [ 458 /1 | 12900 | 73% 7
[JL607 | 288 vsoo\ + zz,zoo\ §:19,700 458 18200 | 62%
[JL609 | 288 00 458 17,000 65%
611 | 288 600, B:13,000 4588 | 11000 | 77% A
613 | 288 200, H:23,400 45E 8] 16300 _ 66%
[JL6i5 | 288 200, 8:13,000 2588 | 11000 | 77 10900, A:10900. %:13000, B:12900 |
RE% | JL606 | 288 100, F:17,600 258 10,900 000, 11,000, #:11000, £:13000 |
[JL608 | 288 45B 8 15700 200, +:17,500, B:16.000
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ERE-ER [y 458 6,800 72% 7,000, £:7.000, B:7.000
[ 7.800, %8600 458 6800 | 72% 47,500, +:7.000. H:7,000
[ 45E8] | 5600 | 77% 44900, /5000, £:5,000, £5.100, £5,100
[ ‘ B[ 6800  72%  #:7,000, +:7.000. H:7.700
288 1.700 68% 8,600 45T 6,800 72%  £:7000, +:7.000, B:7,700
288 7700 68% soo %:7.900. H:8,600 45B 8] 6800 | 72% o
28 7700 68% M 5,000, £:7,900, B:6,300 45Ef] | 5000 | 79% 75600 0. £:5.300. £5.100. B6200
BB 268 5700 | 77% ouo 7K:7.700, 7,700, %:8.600. F:9,000 45B8] | 5600 | 77%  X:A4900, ;ksooo 5,000, %5500, F:5.900
|J 288 1.700 68%
[ ‘ 68%
|J 68% :8,600. :9.000
[ ‘ 68% | H:5.700, 5,000, %8600, H:5700 458 5600 | 77% 94,900, 7K:5000, A:5000, &:5500, £:5.100
[J ] 7700 __68% #8600 145\ 6,800 72% _ %:7,500, £:7,000, H:7,000
[ ‘ 68% 800, 77,800, %:8,600 45B 8] 6800 | 72% %7500, £:7.000. H:7,000
TEm=ER. ] 8600  62% H:8000
BERES 8600 _ 62% J3:8.200, X:7.600. H:7.600
BERE=L [ EREX ] 16300  48% H:15500, X:11.100. H:A5500 | 13,200 58% +13,800, X:11,000, H:13800
I . 8% 815,500, A:11.100, H:15,500 45 %] | 13200 | 658% /:13,800, X:11,000, H:13800
ERE-ETE ERER 37% 45_E|,u_9000 42%
[ 35% 9900 a7%
| J 39% 9,400 40%
39% | F9:9.200, 99,000, H:9.200 9000 | 42% 59,100, X:8.900. H9,100
mreER [J 35% :9.700, X:9.500, H:9.700 9,500 39% 9,600, X:9.400, H:9,600
[ 39% 9400 40%
| J 39% 9,400 40%
39% 9400 | a0%
ERE-REXE ERER [J 5400 4% EB15300 [ 45HAT 15100  47% H:13900
53% H:11800, J:10800. H:11,800 45B 8] | 11800 | 59% 11,700, 10,700, H:11.400
H:15.300 15,100 47% 13
:14,600. J:13,400, B:15.200 13400 | 53% 14,100, :13,300, H:14,100
;15,900 LEM_W.M 14,100
[ULa733 | 2588 13600 | 52% B:14,100
[UL3735 | 458 H 13,600 52%  H:14,100
[JLa465 | 2588 13600 | 52% | B:14,100
737 1 kil 1:1
BRABSE | JL3722 | 1 700, £:14.700
[uL3724 | [ 300,k |34au 13,400, 14,000, F:14,000
[JLa726 | 1 A5B 8] 14100 | 51%  :14,700, +:14;
[uLa728 | 1 45Ef] | 13400 | 63% 100, gwsau 14000, B:14100
730 1 455‘* 15100 47% 200
| JL3464 1 1 15,200 47% 300, £:15,300, H:14,100
732 [ 16400 | 42% &:175 45E|.u 15100 47% 200
[UL3734 | 28HF] 15300 46% 11 Am) %:16,400 45EF] | 14.100 51%  A:15,300, %:15300
738 1 53% 00, %:14.600 12500 56%  A:13,600, £:13,600
ERE-EZE ERER 791 ] 15400 54% 4,700, X:11,600, H:14,700 11,600 65% __W,zuu—
793 [ 18900 | 43% 15700 53%
[UL3795 | | 18900 43% 458 8] 15700 53%
[ 18900 | 43% 4588 15700 | 53%
wER [ ] 18900 43% 15,700 53%
[ [ 18900 | 43% 15700 53%
] 18,900 43% 45E 8] 15,300 54%
[ 18900 | 43% |H:18,000, J:13800. H:18,000 H | 14600 | 56% J5:15300, X:13,700, B:15300
ERER [ [ F:19.400, 15,400, B:19.400 458 15400 | 58%  F:16.200, X:15300, H:16.200
[ [ 20400 458 16200 | 55%
1 J ] 20400 45E 8] 16,300 55%
FKEENRE | JL3800 | 28E1f 20400 F:19.400, 15,500, B:19,400 4588 | 15500 | 67% 16,300, X:15400. H:16300
3804 | 28H ] _ 20.400 45T 16,200 55%
3808 | 28EET | 20400 458 16200 | 65%
ERE-5@® [ EEER 3823 | pBEE | 20500 _ 46% 719,500, 416,500, B:19500 45Ef] | 16500 | 67% 717,300, X:16400, H:17300
5% | JL0824 | 28HAT 20500 _ 46% 519,500, X:16,500, H:19,500 B 16500  57% 3:17.300, %:16,400, H:17.300
RACAE)-Ba | & (HE)%| JL931 | 28Ef | 2 68%  K.36.900, :36.900, £:45,500, F 46,300 458 21,900 | 68% k31,500, 22,000, :36.900, F 38,200
Ea% L936 | 288 32% 7K:38.100, :38,100, %:46.400. F47,400 45B8 37700 | 45% 21,900, 7K:33,600, A:22,000. %:22,000, F:38,700
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4] E2 ERIUTAGALE—I) FB/IIBESLE—I)
FE  ggm BAH P % . mEH %
MAME TR mmm
TR CHE) =AW (B | U CRE) & 28Ef] 0200 6% HEB600
28EH 9700 | 65%
14,500 48%
2,900 | 54% 12.400
Bl 2,900 54%

45HE] 12400 5% B
9000 | 68% HS

45HE] 11900 57%
45181 8,000 71%

81%
200 55%  E:10800
500, B:11,700 000 68% 11,300
500, B:12400 53%  /:13,000. H:11,900
500, H:12,600 53% 213,000, H:12,500
500, B:12,600 53%  /:13,000, B:12.500
500, H:12,600 53% 213,000, H:12,500
KR () % 00 69% :8.400
28E B 4,800, H:8.800 53% 214,600, H:8,600
28 BB 4,800, 59,600 53%  H:14600. H:9.100
14,300, H:9.600 66%

28E 8] | 13
28EH]

:9,000
:9.100

9,100

9.400

10,500
:10.900, H:10.900
:10900, H:10,900
:10.900, H:10.900
112,600
:13.000

112,600

112,600

l

(E) =Xk (B&) | "R AHE) R

[CuL225 63%  F9:10500. H:10,000
[JL229 By 75% | H:8,000
RBR (B97E) 5 |_JL220 458181 | 7.000 75%
[uL224 45881 9,200 67%
228 45B8 | 8000 | 71% H:11400
R B F %) L501 | 6%
503
L505 |
L507 |
L509 |
[ L525 |
[ JL527 |
[ L5290 |
531
(FLIR (37 F ) 5_JL500 |
[ JL502 |
[ LS04 |
[JL506 16000
|_JL508 1:19.500 3.800 87% 215,000, H:18.800
18,400 3800 | 67% |H:15000, H:17.900
19,500 45H A 4.300 85% 215,300, H:18,900
20,800 Eil +16.300, H:20,100
21,400 :17.300, H:20.800
[ 22.200 21300
|_JL520 22,200 21,300
522 22,200 21300
|_JL524 21,500 :20.300
[JL526 20,500
[CuL528 17,900 0500 75%
530 17000 76%
R (FIE) [ _JL303 | :17400 | 1000 76% H9000 |
[JL305 17400 7i%
[ JL307 16,700 56% H:15.800
[JL309 16,700 56%  H:15800
16,700 56% H:15.800
1:16,400 57% H:15500
__ 714
18200 64% 00
19,400 000, H:17.900
[ 1:19,400 100, B:17.900
[CJLseg | 120600 |
[JLa2s 22,200
T 123000 |
[CJLa29 24,300
[JL331 24,300
[JLa33
335
Mm% [ _JL300 | 28HE 20,600 54% 400, B:17.300
[JL302 | 28H] _ 20600 54% 500, H:16,400
[JL304 | 28EHT | 21,000  54% 3:21.200. B:18,900
| JL306 28E B 22,800 50% 3.2
[JL308 | 28EHT | 22100 5i%
28EF] 19,300 57%
2868 19300 | 57%
288 | 18600 _ 59%
28EHT | 18600 50%
[ 300, H:23,100
[CuL320 00, H:23.200
[ _JL322 900, H:24900
[JLa2e 600
[ JL326 600
[JLazs 00
[ JL330 | 3600
1 | JL33%2 | 5000 |
(@)= (B8 | = (TE) F [_JLoot 600, 7K:13,600
[JLo03 1:19.800, H:18.200
[JL905 200
[CJLeo7
[JLs09
[J 13500 | 73%
|_JL923 28E B 17,400 65% 1:18,700
[JL925 | 28EET | 17200  66% 8,600
E (R E) % [_JL900 28 17,000 66% 16
[JLo02 | 28EET | 13800  73% i 81%  F:12800. H:16500
[_JL904 28E B 13,800 3% 80% 212,800, H:17,100
[JL906 | 28EHT | 15300 _ 70% 78%  /:14300. H:18.400
[UL908 | 28 AT | 17.200  66% H: 61% 15500, X:13,000, K120
28 BB ; 62% _7K:15200, H:22.200
82% 215,200, H:22,200
000 | 62% 7K:15.200. H:22.200
000 58% 216,800, H:22,500
000 | 66% _ F:21.400. H:23,000

100 | 74%  K:10,500, H:22,400
800 | 75% k:10.200, H:17.400

RIR (B =4I (B F i) | KR (B ¢ 000 73%

18100 65% 14500, /K:14.500
[ 288 ] 700 77% 13,100
2019 | 28E 17,600 654 000 | 73%  H22100
fFLIE (37 F#%) %_JL2000 | 28 B 14,700 71% 800 75% 14,500, H:12.500
["JL2006 | 28EFT 16600 674 .600 | 69%  H:15500, H:19.100
[[JL2010 | 28EH] | 18300  64% 000 | 75% 10,000 700
2016 | 28EH 18,300 | 64% 000 73% K:11.000

KR (BAEE) =A% (B T A%) | AW (BAEE) 3 | JL2501 | 28N g 17,900 65%

B 11200 | 78%
(LIR (37 F M) #_JL2504 | 28ERT 12300 76%
2506 | 28EIH 18,600 | 64%

700 81%  H:12.400
45 10700 79% H:10900
45H] | 12000 764 7K:10000, H:13,000

KR (7)) =548 (BER) | ABR (F#73) % [_JL2081 | 2861 19,700 53% 3.1 45841 19,600 54% _ H:18,100
8 B 5B 51

[JL2087 | 2t 13600 68% 10000 76%
EXIE - E ]I 28E B 13,600 68% _ HE 12,600 70% [ :10,000. 000
[ 19700 | 53% H2 17900 | 58%  H:21800
TRE=FLU (B T ) TREISE HL__20900 _67% 45ER] | 14000 78y F.15300, B20000 |
17300 73% B A5E 8] | 14000 78%  A:14.100, H:17.200
(LR (37 F %) 288 19,200 70% . 5§ 14,000 78% £14,100, H:14.400
[ 20900 67% 600 45E 8 | 14000 78%  7:15300. H:20900
R RRCHE) %[ J | 28E81 18300  64% 300, B:18,700 45HR] | 10,000 0%
28EHT | 18200 | 64% j3:19.300. B:18,600 45B 8 | 17400 | 66% F:18300. H:17.800
[y B 18800 _ 63% | B:19.900, H:21,500 45 14000 72%
wEAE | J | 26E1%1 | 18800  63% 'A:20000.H:21200 | 45BF1 [ 14000 7% |
[28Ef] 18800 63% 520000, H:20600 | 45EM] 17200 6% | B-18400, Bi9300 |
566 | 28HRT 12600 | 75% |5:15300, H:18.700 4588 | 9600 | 81% /:10000. H:11,000
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= E4 ERIUTAGALE—I) FB/IIBESLE—I)
THe wRm AR [T} 0 wmm  BEE W
mAmE R ETEE 213
R CHE) =)l R (AmE) %[ U551 | 288R1 | 11 3100 [ 45| | o600 8ok 000000000000 |
[JL553 | 28 B8] 000, B:18,500 45B 8] | 14000 71% F:15000, B:17,000
[JLs55 | 28E 14 §:17,000, H:19,500 45 B A1 12,000
[JL557 | 28 B8] 800 45B 8] | 15500 68% H:18000
g | JL552 | il 500, H:17,500 11,500 76% :12,500, H:16.500
[uLs54 500 A5E R | 12000 | 75%
[_JL556 500 12,500 74% 215,000, H:17,700
558 500 9600 80% H:10000
R (FE) = R (AE) % 100 4581 9,600 80%
000, H:19.300 A58 [ 11000 7% |
000, B:19,200 16,100 66% H:17.100, B:18,600
El=ES 500, B:17.900 16.100 66% H:17.100. H:16.700
3.18,100, 6:19.200 BT | 11000 | 77%
45E 8 | 9600 | 80%
R CHE)=HIK R CHE) F [ JL573 | [ 4sHg] | 9600 0%
[CuL575 100, B:18,800 45B 8 | 15600 | 67% F:17.300, B:18.100
[ JL577 100, H:18,800 45 11,000 7%
579 100, H:20,300 45B8] | 15400 | 68% :16500, H:19.100
®EFE [ JL570 17,400, 7K:17,400 45H7] 16,800 65% _ H:17.900, H:16.600
[uL572 100, B:19,300 A5E R [ 11,000 77%
[_JL574 100, H:19,300 458 15,400 68% 216,500, H:18,700
576 700, H:18,700 45B8] | 9600 | 80%
TR CRED-E8 | FU CRE) % | _JLo85 | 18200, B:18700 | 45B81 | 15000 _ 6i% EB.isa0 |
[JL587 300, H:19.500 45B 8] | 16000 | 59% :17000. H:18.800
[JL589 300, B:18,800 45 13,000 | 66%
EfER [ JL584 500, H:18.700 45B181 | 13,000 66%
[_JL586 17,600, H:21.300 45B 8] 16,100 58% H:17.100, H:20,400
588 45B 8] | 15000 6i%
R CHE)=H R CHE) % 11,000 70% :10.000
45B8] | 16400 56%  H:14900
[25B8 12100 6% Basg0 |
SEE | 14900 60% H:16,800
45Ef] | 10000 | 73%
9000 76%
wRRE [ 45Bf | o000 768 0000000000000 |
SEE | 10000 | 73%
58 14,600 81% 212,100, H:15,900
1100, H17.500 | 45EIA 16400 S6h _ B12.00, 17300 |
100, H:17,500 45H A 16,400 56% H:12,100, H:17,300
000 45B 8] | 11,000 | 70% K:10000. H:14,600
R CHE R (PE) % 000, 7k:16,000 9,500 4%
7K:16, 45B 8 | 11400 | 69%  J:15300. K:15300
[asE# 15300  s8% maij00 |
45E 8] | 9500 | 74%
45B 8] 11,400 89%
45B8] | 9500 | 74% H:11400
R CHE)=HE R CHE) % 45 9,000 0
500 A5ER] | 17200 43% H:10700
11,500 45EH A 12,800 58% H:10.700
11,500 45E 8 | 10000 _ 67%
RER i 1 11,500 45 10,000 67%
11,500 45B 8] | 12800 58% H:10700
451 H] 15,500 49% H:10.700
45B 8 | 9000 | 70%
R CHE) =17 R CHE) % 7,500 63% :7.800, B:7300
9900 52
23 T Tasemeso0 e
28 BB ; SEE | 7500 | 63% B8
R (CHE) =/M2 R (AE) % | 45B#1 9000  67% H7500 |
60% 00 10800 60%  H:8.000
28 H 9,800 B 9.400 85%
28E 8] | 9800 ; 5 9400 65%
28E 8] | 9800 45Ef] | 8000 | 70%
28EH] | 0.800 45EE | 7000 748 |
A 28EH 0,800 300 45EE | 7000 | 74%
28E 8] | 9800 300 458 | 8000 | 70% H:7500
28E B 9,800 300 9,700 684% 29,400, H:8,000
28E 8] | 9800 0300 9700 | 64%  :9.400, B:10,000
1:12,300 B 9,700 84% H:11,70(
9,800, B:10.800 B[ | 9000 | 67% B:10;
FUR (AE) % 122300 | 45Bf1 16700  53% HB:10800 |
15700 56%
Bl | 10000 | 724
PR ERE 45B181 | 10,000 725
45 16,400 54% 218,800, H:19.800
[ 4588 17400 51 5:19800. 820800 |
TR CRE) =W R (PE) % 45E1 8 12,700 66%
A5ER] | 9600 | 74%
458 9,600 4
A5ER] | 13400 64% H:12.700
45EE | 9600 | 74%
=TS 45181
[z
236
240 45EE] | 9600 | 74%
[JL242 45B8] | 15100 59% H:12.700
RECHE)=ES R CHE) $ [ JL253 | 9700 74%
[uL255 12400 | 67% H:13000
[_JL257 45EH A 17,400 54% H:13.000
[JL259 25B8 | 9700 | 74%
261 BE | 9700 74%
[JL263 B[ 11400 | 70% 13,000
|_JL265 B 14,300 82% H:13.000
267 SEE | 9700 | 74%
257 SEE] | 9700 | 74%
254 14400 | 62% H:13000
256 B | 9700 | 74%
258 458 12600 67%
260 9700 | 74%
262 15400 | 59% H:13000
264 45E A 16,200 57% H:13.000
266 4588 | 9700 | 74%
291 14,300 66% 213,900
293 9800 | 77%  H:15500
295 45B 8] 9,800
[JL207 45B 8 | 9800
WOFERE [_JL290 9,800
[CuL202 9,800
[Jr29a A 9,800 H:15.900
296 B[ 14400 | 66% B:18.200
R CHE)=HE R (PE) % 277 17.400 51% +17.200, X:16.900, 7K:14,700
[CJL279 | 28E8T | 20500  42% k:19.300. H:19,600 19000 | 47% K:18300
|_JL283 28H 17,000 52% 16,700, 7K:16,700 45E A 15,100 58%  K:14,800, 7K:14,800
[JL285 | 28EHT | 15800  56% H:16400 A5 8]
287 19000 |
HER 276 .15400 |
[CuLzrs | 18700 |
[uL280 17,200, 7K:16,700
|_JL284 28E B 21,200 40% 21,000, 7k:19,700
286 | 28HRT 20000 | 44% K:19.100, H:20200 458 | 18900 | 47% K:18300. H:19.100
R (RB)=BES RR(PE)F[ U453 [ 28HfT 15200  58% B30 000000 | 45|@f [ 900 | 7sk 0000 ]
[CuL4ss BT 15200 58%  H:13900 45B 8] | 11300 69% H:10000
[ JL459 13,400 13,900
[CuL4s1 13,900
[CuLacs | 113000 |
465 13,900
ERE [ 452
[ JL454 |
[ JL456 28 13,400 63% 45B 8] 11,300 89% H:10.000
[uL460 13400 63% 45B8 | 9000 | 75%
[JLa62
4 | 28B8 10400 63 B30 | asEEy o000 _gsw |
RRAB)=-BR  [RRFBD R 5 | 28EHT 14000  62% H:14600 [ 45HF 10400  7i% E:aijo |
7 | 28ERT | 16400  55% H:15300 45B8] | 15100 59%  H:14500
9 | o8EHf 13400 6% | asEa | o800 | 7aw Batjo0 |
[JL4s1 | 28EET | 13400  63% A5E 8 | 10800 70%
[ 45Ef] | 9800 | 73%
45E8] | 9800 | 73%
45Ef | 9800 | 73%
B 474 | 2B 14900 50w B:4000 | domf _oso0 s |
476 28 16,100 56%  H:14.000 45B 8] 9,800 73%
478 | 28HET 13500  63% H:15,100 45E 8 | 9800 | 73%
|_JL480 28E B 13,500 63%  H:15100 45T 10,400 1% H:11.700
[[JL482 | 28EHT | 14900  59% H:16,100 45B8 | 9800 | 73% H:14200
|_JL484 28 17,400 52%  H:17.900 45E 8] 16,000 56% H:16.500
486 | 28HRT 16900 | 5% 45B8] | 16300 | 55%
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=] B8 g BRI EEFTEGALE—)
% =W
pAmm PRE gw¥ % EER | g %
R CHE R CHE) % 491 | 28R 14800 62% 9,500 75%
[[JL493 | 28EHT | 15500 60% H:15000 45BR | 10600 73% H:11000
|_JL495 ZBHE\ 12,700 67%  H:14.200 45Elﬂl 12,200 89% H:12,700
[CJLae7 15300 | 61%  H:15800 9500 75%
| JL499 ZBEl il 17,400 55%  H:17.900 45E|ﬂ 9,500 75%
BHFE [ JL490 | 28ERI 13,000 66% 9,500 75%
[ JL492 ZBEl E\ 14,100 64% A5 E Al 9,500 75%
[JLass 14100 | 64% BE | 10400 73% 10800
[CJLage Bf] | 9500 | 75%
498 B[ 10800 | 72% 11,000
R CHE) =#ail FR (FE) & 431 45H7] 13,300 66%
[CuLass SEE | 15600 _ 60% B:14.900
|_JL435 45T 10,100 74% H:12,600
[JLaar 12900 | 67% H:13800
[CJLass B | 10100 | 74%
[JLa43 A5E R | 10100 74%
TR | JL430 | [4sEf] _dodoo 748 |
[JLasz A5E 8 | 10100 74%
[CuL4za B | 10100 74%
[JLa36 BE 11000 _ 72%
[CJLass BT | 10,100 | 74%
4 B[ 14600 | 63% H:
R CAE) =AM R (PE) % 45 B R 17.400 62% B
A5E R [ 11,000 | 76%
45Elﬂ 17,900 80% B
[4588 11000 764 B
ILRMFE LEM_“‘b
B[ 16600 | 63% | B:16400
%
[4588 11000 76s Easo0 |
R CHE) =K% R (PE) % 1 H] | 13000
[JL663 | 28E8 20 18,000, 7K:19,000
|_JLEBS ZBHE\ |5900 57% 217,000, H:17.600
[CJL667 | 28EET | 20300  54% A :13,000
[ JL6BY 217,500, H:19.200
671 :13,000
Xog [ JL662 .1
[CJL664 | 28EET | 17400  60% i F:17.000
|_JL668 288 E\ 20,200 54% H:
670 | 28Ef1 20200 544 17,200, B:18.300
672 28E B 22,400 49% 3 :2 ¥
674 | 28HRT 18800 | 57% kil
R (FE)=RE F (M) [_JL605 | 28E 16,500 66% K1
[JL607 | 28E18 | 19300  60%
[ JL609 28E B 18,800 il 300 45T 17,000 85% :18.300
611 | 28HAT 18,800 1 45E 8] | 11,000 77% | H:13000
613 ZBEla 17,200 4 45E 8] 16,400 66% 217,400, H:18,800
[JL615 4 5EH 000
RiEFE [ _JL606 4
[JL608 1.16,000, 15,800 15,700, 7K:15,600
610 316,500, X:16.300. 17,10 B
612 300, H:23,700 19500 | 59%  3:18500. H:20700
614 ZBEIE 21 EOO 55% 300, H:23700 45Elﬂ 19,500 59% 218,500, H:20,700
[JL616 | 28EET | 17.100  64% L H:22; 13000 73%  H:18.700
R (FE) =X R (AE) % 14 | 45s8% _ 9000 80% 00000000 |
28 B L B:15 SEE | 13000  71%

16800  63%  j9:18,800, H:17,000

17.000 | 62% 16.300, 7K:16.300

11,000 | 76%

15600  66%  9:16.200, H:16.700

15600 _ 66%  4:16.200, H:16,900

45Eluu 11000 | 76%  H:13.000

45HA] | 11,000 6"

45H] 17000 624 | X:16200, H:16.700

45 17.000 | 62%  X:16.200, H:16,700

000 [ 4585 | 11000 _ 76%  H:13,000

200, H:20200 45Hf]  17.700 6% _5:16.800. X:16400, K:15900

17,200, H:20.200 kil 61%  H:16.800, :16.400, K:15900
400, 17,900 :15,800, B:18.600

8 X
[[JL627 | 28BF] _ 17200  62%
28 BB

8 X
634 | 28EF] 21300 _ 53%
28 BB

71%

R CHE)=E4 R CHE) % 1%
66%  :K:15.000, K:15.000
66%  :15000, K:15.000
45HR1 | 11000  76%  H:13.000

[CJLe9s 316,800, B:18.300 45EH] 14700 68% H:15200. H:16,500
[JL697 116,800, H:19.300 4588 | 11000 | 76% | H:13,000
B [ _JL6ss §:16.800, 7K:15.200 45 11,000 76%
[JLe90 . 116,800, H:15.300 45B8] 15200 66%
[CJLe92 2555\ 16800 | 63% 415200, B:17.300 45EH] | 11000 76% 3,000
[JL69a | 288 ; 300 45E8] 14800 67%
[CJL696 il 300, H:19300 258 15200 | 66%
[JL698 800 45881 | 13000 71% Enssoo
PE)-ERE R (PE) %
| 4SHE 10
| 45T 11.600 ~ 768 A
11,600
[JL653
655
BERESR
100, B:16,100
100, H:16,100 0000 | 79%
[CJL6as 600, H:20,500 4100 | 71%
[CuL650 X 600, H:20500 X
[CuLe52 B 12600 74% 600, B:17,500 100 7%
— YT K
[z (e 5| JL659 |
| JL658 | 28EIAT 28300  50% )
PNTAGIZE 3| 28EFT 17500 | 62% |
= 4 | 28HRT 17500 | 624
KR (D) =#E KBR(FRF) %
ZBEIE 16,600
HER 208R | 16600  5o% 0]
288 15,100
il . — :9.800
B () =1E% KR (5 % :26.500,, 7K:26,500 :25.700, 7K:25.700
100, H:25,600 7100 | 384 | F:24700, H:25.200
000, B:25.100 7100 38% 523,600, H:24.700
125,600, H1:26,800 4800 | 43% | H:23,500, 7K:19.700
TER 2555 25.100 424 X:28.600. K:28.600 2000 | 49% | X:23200, /:18,200
28EF] 24000 | 45% | X:21500, K:27500 2900 | 47%  X:26.100, 7K:26.100
6 | 28E] 25100  42% k27500, k27,500 3700 | 45% | X:26,000, 7K:26,000
2190 Bl 26300 | 39% 7,500, 7K:27,500 5500 | 41% | X:26.900, 7K:26.900
B (7% =1L EACZE I il 5.800 60%
[y 6900 57% |
2237 19700 | 50% 920,400, H:20900 9600 | 50% 118500, K:17.60
W% | JL2234 | 28EE1 | 19000 | 52% H:19,500 7100 57% 7)(15200 H:17.600
2236 | 28EB] 18400 | 534 7200 | 56%
2238 18000 | 544 7.200 | 564
ROFF-E | AW (A% | JL2201 | 28EE 14900 _ 61% | aseg | 6100 84w Ee700____________]
[[JL2203 B 15500 | 50% 15300, H:14,700 SERT 11300  70%  H:12.700
2205 15900 | 58% 915400, K:15800, B:14.10 10400 | 73% | H:11,600

2207 | 28EF] 15900  58% 11300 | 70% H:12.700

2209 17,000 55% K:18,300, H:18.300 B 11300 705 H:12.700

2211 | 28! 17,000 55% 7k:18.300. B:18,300 SEE | 11300  70% B:12.700

2213 2555 18700 51% 458 | 11.000 _ 70% H:12.700

2215 | 28Ef1 18700 | 51% | 73:17.800. 418,100 4588 | 6100 | 84% | H:6400

ez [ L2200 ZBEIEw 14,800 61% X:15600, 7K:15,600 4588 6,100 84%  H:6400

[ 5% 458 11,300 | 70%  H:12.700

[J BE 11300 _ 70% 12700

[ 11,300 | 70%  H:12.700

B 10400 | 733 B:11.600

0 5 6100 | 84% | H:6400

2212 | 28E18] 12,900 614 SEH 10400  73% F:11,600

2214 | 28Ef1 14900 61% 11300 | 70%  H:12.700
R (B =318 RIR (527) % [ JL22 ZBEIE 14000 | 61% 456187 | 10500 | 71%
X B[ 13600 | 62%

45E] | 11500 | 68% EI 12.700

wRE 4588 | 11,800 67%
Foer

8 X 625
[UL2246 | 28E#1 14000 61% _H14500 4588 7|!b E:10,600

2250 | 28EIF 14000  61%

BR (5 =#210 KR () S| U230l [ 28R 11,100 47% 7K:11,000
[JL2309 | 28 11,100 | 47% 10900, 7K:10.900

nFE [ JL2302 | 28HET 10,900 48% 9.3 56%

10700 | 49%

2310 | 28EF 12900 | 38% 45E R

56% 5:9.300, H:9.600
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ERIUTAGALE—I) FB/IIBESLE—I)
=) “TRER g . mEH
EEA gw¥ % EER | g ~
IR (FFH=X5 RBR (R R J B 10400 56% B 5,400
[[JL2365 | 28E 8T | 10400 6% 4588 8000
2367 ZBEI E\ 10,400 56%  H:14.400 45Elﬂl 5,400
XHFE [ JL2362 10,400 56% | H:13.400 Bl
| JL2364 ZBEIE\ 10,400 56%  H:13.400

366 | 28ERT 10400 | 56%  H:15300
IR (=R KB (FRF) % 7

9,100 8,500, J:10.900
700, 7K:10500, H:9,600 9,100 500, J:10.900
700, 7K:10,500, H:9.600 7500

RIS

1,300 EI 11,000
700, B:9.600
700 EI_B 600
700, H:9,600
2,800, 7K:12.800

IR (RFH =X KB (FRF) %

X 3
[y LHM_H.MJOO—
=X N 5% 7.400 5:7.600
| J Bl 9, 700 66% 8,600 70%  :K:9,400, 7K:9,400
: B 9,700 66% 45H A 8,600 70%  :k:9,400, 7K:9,400
8 BET X F:9.700 45B 8 | 8600 | 70% X:9.700. 7K9.700
R(FA-E8 | AR(GAE Bl 9700 | 66% 458 6200 | 79% | X:6800, 6,800
45B 8 8600 | 70% X940, 7K:9.400
28H 9,700 66% 45H A 9.400 68%
8EH 9. 45E8 8600 | 70%
28E 8] | 0,700 6200 | 79% | X:6.800, k6,800
eI 28HAT 9,700 66% 6.800 77%  H:6.200, H:6.000
| J 132 28 9,700 66% 9.400 68% :8,600, H:8.300
[ 8ERT | 9700 66% 8600 70% | X:9.400, /9400
[ 28EH] | 0700 66% 6200 | 79% | X:6.800, 6,800

28ER1 9,700 66% 8.600 70% _ :X:9.400, 7K:9.400

R(FM-ERE |[XAREFME 28Bf] 12,700 62% 45E B 12,200 63%
[J 28HAT 5 B /il
[ 28EHT | 12700 | 62% 12200 | 63%
28 13,200 60% 12,700 45EH A 9,400 72%
28EHT | 12700 | 62% A5ER] | 12200 63%
2B 12700 626 | aoBE 2200 6w |
28EHT | 12700 | 62% 9000 73%
BERESR 28E ] 12,700 62% 45H] | 9.000 73%
[ 28EHT | 12700 | 62% 12,900, K:12,900 A5 8] 63%
| J 28E B 12,700 62% 458 83%
[ 28EHT | 12700 | 62% 45E8 | 9000 | 73%
| J ZBHE\ 12,900 61%  F:12.700, B:14,500 45B 8] 12,400 62% 212,200, H:14,000
[ [ 28EHI | 12900  61% 3:12.700. B:14,500 A5E 8 | 12400 | 62%  :12.200. H:14000
ZBEE 14,200 57%  H:14.700 45T 13,600 59% H:13.800
26EIR | 14200  57% F:12700,B:14700 [ 45BF 13600 504
B (P20 =FLIR (3 T mef & 2 (P Ep) 28EAT 17200 63 | 4s5@Aj | 13700 | 70%
28EH | 13700 70% H:14200 A5ER | 12700 | 72%
28E B 12,500 73% _ H:13200 458 10,000
RRETS) 26EH 10700 | 70% 14200 | 45|@r | 11000 768 H:at00 |
28 18,600 60% _ H:20.300 45B 8] 17,600 62% H:18.000
28EH | 17500 62%  H:20400 A5E 8 | 13900 | 70% :17400. H:20300
R CHE)=RE R (PE) % 7 Bl 47.600 35% 48,200, H:48.800 458 38300 48% :38,700, H:39.800
7 B 45200 | 38% | 55:45800. H:46400 45E 8 | 18000 75%
aiER 7; 45,200 38% 45,800, H:46,400 | 45841 18000 _ 75% H=25000 |
74 | p8EIF 47600 _35h 48200 B48800 | 45B8] 38300 484 59800, H39800 |
WMFHFR)-/F/F [LIRGFFAR) M _JL2803 | 288F] 12200 4588 | o400 64w 00000000000 |
[JL2805 | 28E# | 12200 A5E R | 9400 | 64%
2809 ZBEl E\ 12,200 5E|ﬂ 6,900 74%
BH®E | JL2804 | 28HAFI _ 12.200 Bl 6.900 74%
[ MLHEJ_‘Z 200 ‘5_E|BJ 8,100 69%
2810 | 28EHT 12200 45B 8 | 8100 | 69%
ARG TR -RE [ HTE HJ H14000 45EH 6500 __7on mya0 |
[ 8’ 9200 70%
#E%x  [JL2822 [ 28HHET 12,900 58% 458 8,100 73%  H:9.400
2828 | 28EfT | 12900 | 58% B[ 5800 | 8%
AP HTR) -8 LB @)% L2831 | 28B19] 15300 | 51% F15500 | asE] 15200 5% Eibao |
[JL2833 | 28E AT | 13800  56%  H:14000 SEE | 13300 _ 67%
2839 | 28Ef 13800  56% H:14,000 12700 59%
&% [ JL2830 | 28HEi 18600 40% :X:17.700, 7K:17.700 15.400 50%
(L2832 ﬂ%ﬂm_ﬁ.m—
[JL2838 | 28 AT | 18600  40% 17200 | 45%
HRGTTR)=-HB wRE 2871 ZBHM_W.M 119000 |45 8,100 78%  E:8.300
2877 | 28EfT 11800 | 68% 3:16600. H:15400 A58 11400 | 69% :12000. H:12.300
IR T 2%) 2872 110300 | 45HIF) | 6500  82% H6700 |
2876 300, B:13,500 A5 8]
ARFTFR)=E waxE  [JL2go1 Lﬂm_w 100 71% 00
[[JL2903 | 28EHT | 9000 | 74% k9,700, H:9.200
|_JL2905 28 10,100 1% 3:10,300 :7.300
[[JL2907 | 28EHT | 12900  63% 300, H:14600 64%  /:12,800. H:13.800
2909 28E B 11,300 68% H:12,300, H:13,500 89% 211,800, H:12,700
FUBE ) 3 _JL2900 | 28HAT 9000 | 74% 700, H:9.200 8900 754 ) 9400 8:9.100
|_JL2902 ZBEl E\ 10,100 1% 300 ﬂ 72%
[JL2904 10100 71%  H:10300 7300
|_JL2906 ZBHE\ 11,300 68% §:15,800, H:15,300 215,600, H:14,800
2010 | 28EfT 11,300 | 68% 3:15800, B:15300 6,800
WRFTFR)-ES | _LEEHE 3403 900, H:17,300 11,900, H:13,000
LI (37 F ) | JL3406 1.16,500, H:17,900 +12,000, H:13,500
ER=TEE @@ | J13523 :28,200., 7K:28,200 25,300. 400
&% | L3526 (:28,200, 7K:28.200 45B 8] | 21,600 | 61%  X:24800. 7K:21,000
BE=-lE fmRE% [ JL3531 | 28H 19,500 64% 45881 _ 19.400 64%
3537 | 28 E1AI X 5 BB
fu&% [ JL3530 | 28HET 19,000 65% 13,400
[JL3538
AR () =8IER AL (E3F) % |_JL2861
[JL2863
[JL2865
[JL2869 | 28 AT
gz | JL2860 | 28H ] 11,800 50% 9,500
[[JL2862 | 28EET | 11,800  50% 39,500
[ JL2864 | 28 B A 11,800 50% 9,500
[JL2868 | 28EET | 11,800  50% 39,500
R (EH)=-ER [#L0E (F %) % [ JL2895 | 28HAT 9,800 57%
W% | JL2804 | 28EAI 9.800 57%
AR (B3 =B HLIR (B3 5 741 | 28HAT 9900  50% ]
743 9,900 50%
745 28H 9,900 50%
749 | B 9900 | 50% X
2753 | Bl 9,900 50% 45Elﬂ 9.800 51%
755 9,900 50% 45B8 | 9800 | 51%
757 28H 8,900 55% 458 ﬂl 6,900 65%
EER 8 8,900 55% 45B181 | 6.900 65%  H:7.900
28E B 9,900 50% 45Elﬂ 9.800 51%
B 0800 | 0% || 45Ha 9800  51%
28 9,900 50%
748 | 28ERT 9900 50%
0752 | B 9,900 50%
754 9,900 50%

AR (B3 =FIR AR () % | JL2881 B 11,100 58% H:13200

2883 11100 | 58% H:13200
FR% [ Ji2880 | 28EIET 11100 58w H320 [ 45 8
[JL2882 | 28EET | 11100  68% H:13200 | 45HAT 9800 _ 63%
R (EBR)=ZR FLIE (3% & 2817 ZBEIa 12,700 52% H:15600 45E A1 11,700 56%  H:9.500
SRS | JL2816 12700 | 52% H:15600 45B8] 11700 | 56% 500
IR (EBR) =% 5 IR (E#%) % 2721 ZBEI Hi 7,800 70% H:8900 4581 7.200 72% _H:8.300
[JL2727 B 7.800 70%  H:8,900 B[ 6900 | 73%
k@A [Jl2720 | 28E@] | 7800  7o% Heo00 000000 [ 45HE | 6900 7% 0000000000000 |
[L2726 | 28E 8T | 7800 704 H:8.900 45B8] | 6900 | 73%
EE-HE [ JL3551 20,200 35% 00 SERT 18600 40% :18,400, H:17.800
["JL3555 19700 | 37% 919100, 7K:19.100 16700 | 46%  ):16.900, 7K:15.400
HER | JL3550 | 28HR] | 19,100 | 39% 45Ef] | 16200 | 48% 4616900, K:15.400
[JL3554 BT 20200 35% H:20800 5 18600 | 40%  H:17.800, H:18400
ER-ER [JL3621 [ 7.700 68% 458 6,800 72% B
[JL3625 | 28EfT 7700 | 68% sK:7.800 45B8] 6800 | 72% 7
[[JL3629 | 28EH1 7700 684
[[JL3631 | 28EHT | 7700 | 68% | H8,600
[JL3633 | 28EE] 7700 | 68% H:8,600
3639 | 28EA 7700 _ 68%  5:1.800. H:8600
3641 | 28EA] 7700 | 68% £:8,600
R 3620 | 28E1f1 _ 7.700 68%
[UL3622 B 7700 | 68%
[JL3626 7700 68% 45B 8] 6800 | 72%
[UL3630 i 7700 | 68% 45HE] 6800 724
[JL3632 B 7700 | 68% 45881 | 5000 | 79% B
(L3634 B 7700 8% 2581 6800 | 72% B
3642 | 28EAT 7700 | 68% 7K:7,800 45B8] 6800 | 72% 7
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= E4 EBITABALE—)L) FB/IIBESLE—I)
THe wRm AR [T} 0 wmm  BEE W
BA inliallE L1} 4 2
ERB=L ERES 28E1f] 16300 48% 45818 13200 58% JK:11,100
LS 28EHT | 16300 48% 45B 8] | 13200 58% K:11.100
BRE-ETSE BERESR 28618 9,800 37% 45HE] 9000 42%
[ 28EHT | 10200 35% 45B8 | 9900 | 37%
| J 28E B 9,600 39% 45 9.400 40%
28EHT | 9600 | 39% 9000 | 42%
mreER [J 28Ef] 10,200 35% i 9,500 39%
[ 28EHT | 9600 | 39% BE 9400 40%
| J 28E B 9,600 39% B 9.400 40%
28EHT | 09600 | 39% fil 400 404
BERB-BEAE BREE | J PEEEL 16,400 42% | H:15,300 100 47% __B:13900
28EHT | 13500 | 53% 3:14600. B:12.400 800 | 59% JK:10800. H:10,800
| J 28E B 16,400 42% 1:15.300 15,100 47% H:13.900
[ 28EH | 15300 46% H:15900
28 14,100 51% 900
[ 28EHT | 14100 51% 900
| J 28E B 14,100 51% 900
28EH | 14100 5% H:14700
BEXRER [ J | 28Ef 15300 ~ a6% ]
[ ; 6%
[y il 46°%
[ il ; 6%
42%
: 424
[UL3734 | 28EFT 15300 6%
29EW  fas00 bw |
BREB=EZE BERESR 28B ] 15400 54%
[ 28EHT | 18900 | 43%
| J 28E B 18,900 43%
[osEm  tsoo0 s |
‘B [J | 28Ef 800 ~ a3% 00000 ]
[ X 434
| J 28E B 18,900 43%
X 434
46%
28EH] | 20,500
WRCAR)=-EE [EEGER 28EIf] 44,600 35% 45200, H:45800 8%
Ea% 28EH] | 44600 | 35% 345200, H:45800 A5 8] 000 | 68%  73:36200. H:37.400
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Fi F P

AR BAME ERR ERR ERR EEE ERR EEE
B (AE)=XR(FF) [ HRFE) [ _JLiol 28 B8 9.200 7.000 8,000 7.000
103 28 8] 9,700 9,700 11,300 9,100
[CuLior 288 15100 15100 13,300 11.000
T 28 8] 14,500 14,500 12,600 10900
113 28 8] 14,000 14,000 12,600 10900
115 28 8] 13,600 8,900 12,600 000
117 288 13,000 13,000 11,200 10900
[CuLiie 28 8] 11.800 8,000 8,000 8,000
[CuCizt 28 8] 11.800 11.800 11200 10900
[CuLi2s 28 8] 13,300 13,600 10900 200
[CuLi2r 288 9, 8,900 X 700
ININEI] 28 8] 14,500 14,500 10900 400
INTREX) 28 8] 8,900 14,800 10900 600
[CuLiar 28 8] 14,800 14,800 10900 600
139 28 8] 14,800 14,800 10900 600
KR () 5 |_JL102 28E T 9.300 500 11.000 600
[CuLios 28 8] 13,600 600 11.000 800
[CJLi06 28 8] 13,600 600 11,000 600
110 288 13,600 400 9,400 400
112 28 8] 12900 900 11,000 600
114 288 12300 300 11.000 600
116 28 8] 11,800 800 11,000 600
[CuLiie 28 8] 8,900 900 8,900 200
[CuLiz0 28 8] 11.400 800 11.000 400
[CuLi2e 28 8] 11.400 800 11,000 400
[CuLi26 28 8] 11.400 800 10,800 400
[CuLize 28 8] 11,800 800 10,800 800
[CuLi30 28 8] 8,900 500 11.400 100
INTRE) 28 8] 14,000 000 10900 800
138 28 8] 000 800 11,200 800
B (AE)=XR (B§AE) | HR(FE) [ _JL221 28B1 81 11.200 8,900 8.900 000
[CuL225 28 8] 11,000 11,000 11,000 500
229 288 8,900 7,000 7,000 000
KR (BAT) $ |_JL220 28E A 8,400 000 000 000
[Cur224 28 8] 10200 10200 10200 0200
228 28 8] 000 12100 10,000 1,900
A (AE) =4 (3 F )| KR (AE) & [_JL501 28B1 81 19,300 17.300 600 6,400
[CJL503 28 8] 20,900 19,300 600 7.400
["JL505 28 8] 600 20,800 500 9.300
[CJLs07 28 8] 600 20,800 200 18,300
["JL500 28 8] 600 21,700 200 18,600
NI 28 8] 500 20300 400 18,600
[CuL513 28 8] 600 19,700 600 19.400
[CJL515 28 8] 700 19,700 100 20300
[CuLs17 28 8] 300 19.700 100 20500
[CJLs1o 28 8] 500 16,500 9,000 20500
[CJCs21 28 8] 16,900 15,900 15,900 20,500
[CJL523 28 8] 15,900 20,800 14,900 20,500
[CJL525 28 8] 14,900 800 13,900 18,900
[CJLs27 28 8] 13,900 600 12,900 17.900
[CJL520 288 13,400 400 12,400 16,900
531 28 8] 12900 900 11,900 15,900
L (37 /) 3_JL500_| 28E 21,900 900 12900 14,900
[CJL502 28 8] 23,000 900 13,900 15,900
["JL504 28 8] 20,500 400 400 19,800
["JL506 28 8] 20,500 13,900 900 20,000
["JL508 28 8] 19,700 14,400 400 400
[CJL510 28 8] 19,700 20,800 300 400
[CuLs12 28 8] 20,800 20,300 300 400
[CuL514 28 8] 20,800 21,100 600 700
[CJL516 28 8] 21,100 21,800 100 400
[CuLs1e 28 8] 21,400 22,200 600 700
[CJL520 28 8] 21,400 22,200 600 700
[CJL522 28 8] 13,900 13,900 600 700
[CJL524 28 8] 12,900 12,900 200 400
[CJL526 28 8] 11,900 11,900 200 400
[CJL526 288 11.400 11.400 700 200
530 28 8] 10900 10900 500 600
TR CAE). FOR CRE) % |_JL303 28E T 12,900 10,900 2,900 900
["JL305 28 8] 15,900 12,900 15,900 2,900
[CJL307 28 8] 400 24.800 500 18.900
["JL309 28 8] 700 26,200 500 18,900
NI 28 8] 700 26,200 500 18,900
INTEIE) 28 8] 500 25600 500 18.900
[CuLais 28 8] 600 12,900 500 12,900
INTETE) 28 8] 500 21,600 21,600 19,600
INTEIT) 28 8] 600 22,600 20,000 200
[CuLszt 28 8] 600 20,600 19,600 200
[CJL323 28 8] 20,000 900 12900 100
[CJL32s 288 20,000 700 19,600 100
[CJLa2r 28 8] 20300 000 19,900 200
[CJL320 28 8] 12,900 900 12,900 500
[CuLsat 28 8] 22,100 100 19,200 500
[CJL333 28 8] 12900 900 12,900 5,900
335 288 23,000 100 19,200 500
TESE | JL300 28E 15,900 900 15,900 900
["JL302 28 8] 15,900 900 15,900 900
["JL304 28 8] 21.300 300 20,200 600
["JL306 28 8] 23200 500 22,900 400
["JL308 28 8] 22,800 000 22.300 400
[CuL3io 28 8] 19,300 2,900 15,900 900
INTEIP) 28 8] 19,300 20,300 20.300 100
[CuL3ia 28 8] 16,600 20,800 21.300 100
[CJL3ie 28 8] 16,600 12900 12900 700
[CJLaie 28 8] 20,000 23,700 20.300 200
[CJL320 28 8] 20,300 24,500 20.300 200
[CJL322 28 8] 400 24,800 20,300 24,800
[CJLa24 28 8] 900 26,300 19,800 26,800
[CJL326 28 8] 900 26,300 19,800 26,800
["JLa2e 28 8] 900 12900 15,900 27,800
[CJL330 28 8] 600 26,000 16,600 26200
332 28 8] 2,900 12900 15,900 15,900
A CAE)=P# (B%8) | 1R (FE) & [ _JLeot 28B 81 30,900 17.900 21,400 17.300
["JLe03 28 8] 300 23800 24,100 19.300
["JL90s 28 8] 700 24,900 24,100 19,600
[CJLe07 28 8] 700 24,900 24,100 19,600
["JL909 28 8] 900 24,900 23300 19,600
NI 288 900 24,900 15,900 19,800
[CJLets 28 8] 000 15,900 200 19.100
[CuLerr 288 24,000 22,900 700 18,600
[CuLete 288 20,000 16,800 500 18,800
[CJtoz1 28 8] 18,900 19,200 500 200
[CJLo23 28 8] 22,100 14,900 700 900
925 28 8] 21,700 22,100 600 100
SR RE GRS 98) 5 |_JLO00 288 21,100 13,900 900 100
["JLe02 28 8] 19,200 13,800 700 700
["JLo04 288 19,600 13,800 700 200
["JL906 288 19,800 300 100 200
["JLo0s 28 8] 2,300 200 600 24.300
[CJLeio 288 3,100 500 22,500 29900
[CuLetz 28 8] 3,100 500 23,000 33,000
[CuLota 28 8] 3,100 500 24,000 33300
[CuLete 28 8] 3,100 900 24400 33300
[CuLete 28 8] 8,900 900 24400 33.300
[CJLo20 28 8] 21,100 200 24.200 33300
922 28 8] 20,000 13,800 20300 200
[ KBR (57 =HLUR (3 F &%) | KR (5 F%) % [_JL2001 28E A 100 20,700 200 100
2005 28 8] 100 21,800 900 200
(L2009 288 100 17.600 200 400
2019 288 700 17,900 600 100
L% (3 F7%) ]_JL2000 | 28E 81 21.400 20.300 000 900
(L2006 28 8] 16,800 17,900 20,300 700
28 8] 19,500 20,800 22800 700
28 8] 19,400 20,500 23500 900
28 8] 24400 17.900 13,900 700
288 18,000 16.300 12,100 300
L (37 ) 3_JL25( 288 16.600 12300 12700 20900
2506 28 8] 13,900 13,900 21,800 500
KT () 5 | JL2081 28 8] 27,900 25300 15,900 200
2087 288 21,500 13,600 13,600 900
SFHG AR ¢ | _JL2084 28 8] 15,800 11,900 13,600 500
2083 2881 20,500 21.200 22,000 400
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AR BAME ERHR ERR EEE ERHR EEE
TR CAE)-KmH | Rm (HE) % |_JL56 28E 8 22,800 22,100 19,700
[CJL567 288 24,500 22,100 21.700
569 28 8] 19,900 15,900 25000
TREAR | JLsoz 28E T 25,100 14,900 23,000
[CJL564 288 20,600 21.300 24,000
566 28 8] 15,900 15,900 21.700
BOR (RE) =R BOR (FE) §[_JL551 28E A1 21,900 13.900 18.900
[CJL553 28 8] 23400 13,900 19.500
[CJL555 28 8] 20,800 13,900 18,600
557 288 20,800 900 16,800
IS | _JLs62 28E T 100 900 700
[CJL554 28 8] 700 800 600
[CJL556 28 8] 100 700 600
558 288 900 900 500
B (nE) I R (AE) &[540 28 B8 700 100 300
[CJL543 28 8] 22,800 500 900
545 28 8] 16,800 900 700
Nz [ _JLS40 28E A 18.900 000 100
[CJL542 288 200 .300 500
544 28 8] 900 12900 200
WRCAE)=HE | B CAE) 5 |_JLST3 28E 100 16,000 500
[CJL575 28 8] 200 20,100 400
[CuLs77 28 8] 900 11900 20400
579 28 8] 4,900 13,900 18,900
WS | JL570 2B 16,900 13,900 13,900
[CuLs72 28 8] 14,900 11.900 13,900
[CuL574 28 8] 20300 19.300 21.400
576 28 8] 13,900 11,900 15,900
HR(AE BOR (9ME) § |_JL585 28B1 81 20,100 20,600 200
[CJL587 28 8] 25700 18.900 200
589 288 21.200 13,900 900
WS | Jised 28E T 15,900 14,900 700
["JL586 288 19,200 20900 900
588 28 8] 15,900 15,900 900
HR(AB)=A#H HR(AE) R 26E1 8 000 000 ,400
28 8] 500 300 300
28 8] 000 000 500
28 8] 300 300 500
[ 28 8] 500 900 900
151 28 8] 000 9,400 9,400
AR 28881 400 9,400 500
28 8] 900 900 100
28 8] 15,400 500 500
28 8] 16,500 100 500
[ 28 8] 16,500 100 500
150 28 8] 13,400 500 000
TR CAE). FOR CRED) % |_JL153 28E 16,000 900 10,900
28 8] 16,000 900 11.900
28 8] 11.900 900 16,000
28 8] 11.900 9900 9900
28 8] 16.000 16,000 12.200
28 8] 10,900 10,900 12.200
28 8] 14,200 11,900 11.900
156 28 8] 10,900 11.900 11.900
TR PE B (PE) 5 |_JLi6l 28E A 9,800 8,900 8,900
[CuLi6s 28 8] 16100 11,500 11,500
[CuLi6s 28 8] 14,400 11,500 11,500
167 28 8] 9.900 9,900 9,900
wEg [ Jii62 | 28E 81 9,900 9,900 9,900
[CuLied 28 8] 14,400 11,500 11,500
166 28 8] 16,500 11,500 11.500
166 28 8] 8,900 8,900 9800
HR(AB)=IIR WRCGAE) [ JLI75 28E 81 8,800 9,300 7.500
179 28 8] 11.000 11,000 11,000
23 174 288 11,000 11,000 11,000
178 28 8] 7,500 700 700
BR (RE) =M B (PE) 5 |_JLisd 28E A 9,800 900 000
[CuLies 28 8] 10900 300 300
[CuLier 28 8] 800 300 300
[CuLiey 28 8] 800 300 500
[CJCior 28 8] ,000 300 300
193 28 8] ,000 300 800
INARE | JLis2 28E A 800 300 000
[CuLies 28 8] 800 300 300
[CJLiee 28 8] 800 300 300
[CuLiss 288 800 300 10,300
[CuLio0 28 8] 800 300 12,300
192 288 900 300 10,800
R (RE)-mRE W (PE) 5 |_JL213 28E A 500 24,300 23,300
[CuL2is 28 8] 23500 23300 9900
219 28 8] 13,000 9,900 13,700
MREER [ JL212 28E A 13,200 9,900 13.000
[CuL2ia 288 9,900 500 23500
218 288 20,800 500 24.500
R (AE) =ML BR (DE) & |_JL231 28B1 81 16,800 700 14,700
[CuL233 28 8] 17,500 500 10,500
[CuL237 28 8] 16.600 500 15,800
[CJL239 28 8] 16,000 500 16,300
241 28 8] 10,500 300 10,500
[CITE N ANV 28 8] 14700 700 15,200
[CJL234 28 8] 10,500 500 10,500
[CuL236 28 8] 15,400 400 200
[CuL240 28 8] 10,500 400 200
242 28 8] 12900 500 400
RR(AE)-LE BR (D) # | JL253 28B1 81 19,600 200 200
[CuL255 28 8] 19,800 700 700
[CuL257 28 8] 20,400 700 700
[CJL250 28 8] 19,900 100 700
[CJL261 28 8] 16.800 100 16,800
[CJL263 28 8] 16,800 16,600 16,800
[CJL265 28 8] 16.300 600 600
267 28 8] 100 100 100
[ 28E 100 100 100
[CJL254 28 8] 100 100 100
[CJL256 28 8] 400 100 400
[CuL256 28 8] 400 400 400
[CJL260 288 100 400 400
[CJL262 28 8] 100 600 600
[CJL264 28 8] 16300 20200 20200
266 286 16,100 19.500 19.500
RRAE)=LOFH |[ExGE) [ _J291 28B 81 19,700 16,000 18,500
[CJL203 2867 20800 200 19.500
[CJL205 28 8] 500 600 20,000
207 28 8] 700 700 20,000
WWOFEE | JL290 288 700 700 19,600
[CJL202 2881 100 100 21,000
[CuL204 28 8] 800 600 21200
206 288 600 100 20.300
R (AE)=HE BR (RE) R [_JL277 28B 81 400 900 22,900
[CuL2re 28 8] 300 200 24200
[CJL283 28 8] 300 200 24200
[CJL285 2867 22,100 400 13,400
287 2867 23300 300 900
o276 2867 20,900 400 400
[CuL27s 28 8] 13,400 700 200
[CJL260 286 24200 200 200
[CJL284 286 24200 200 200
286 286 ] 22900 700 600
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abm EABE wAn wAn ERH wau ERH
EEEEEIT R (AE) f[_JL53 28 B8 100 900 100
[CoLa55 286 100 100 100
[CoLase 2867 400 400 100
[CuLde1 286 700 500 900
[CJLa63 286 ] 700 100 200
465 286 7] 500 100 500
#ER [ Juas2 28E A1 900 .90 900
[CoLase 286 9,900 900 900
[CoLas6 286 17.900 500 900
[CoLa60 286 20,000 100 500
[CoLa6z 286 20,000 400 100
454 286 20,000 400 100
FOR CRE) % |_JLaTs 28E 21.600 800 000
[CoLa7r 286 23,000 200 200
[CoLae 286 800 000 000
[CoLast 286 600 000 000
[CoLas3 286 600 000 22,000
[CJLas5 286 200 200 23000
487 286 200 200 200
BE | Jan 2858 200 200 200
[CoLa7e 286 200 200 500
[CoLa7s 286 800 000 800
[CoL480 286 800 000 000
[CoLasz 286 ] 200 200 200
[CoLase 286 200 300 23600
486 286 200 000 200
HR(AE BR (DE) R [ JL491 28B 81 900 900 900
[CoLas3 286 900 900 900
[CoLass 2867 900 900 900
[CoLas7 286 900 400 400
499 286 400 400 400
B | JLa%0 28E T 400 400 400
[CoLasz 286 900 400 900
[CoLass 286 900 400 900
[CoLas6 286 900 900 900
498 286 24.900 900 24.900
R AE) =l BR (D) & |_JL431 28B1 81 23,900 000 23,900
[CoLa33 2867 5400 700 4,800
[CoLass 286 300 300 300
[CoLasr 286 300 300 300
[CoLa3e 2867 500 000 900
443 286 ] 000 000 000
TS | JLa%0 285 000 000 000
[CoLasz 286 900 000 300
[CoLase 286 300 000 300
[CoLa36 286 300 500 500
[CoLa3s 286 200 500 700
440 286 ] 300 4.300 500
RRAE)=ILAN |[HRFE) & [ IL373 28 B 81 20,500 8,900 400
o375 2867 12,900 10,900 12,900
[CoL77 2867 18.900 16.400 21,500
379 2867 10,900 10,900 12,900
TAMFE | JL370 | 2B 12,900 12,900 10,900
[CoLs7a 2867 17,600 17,000 18,900
[CIL376 286 17,600 15,900 23500
378 286 10,900 10,900 500
FRCAE)-A7 | Fm (HE) % |_JLo6l 28E 8T 21.300 18,300 500
[CJL663 28E] 24.500 23500 400
[CJL665 2867 21.100 20900 200
[CJL667 286 12,900 10,900 900
[CJL669 2867 19.400 18,900 500
671 286 10,900 10,900 2.900
XA | JLe62 28E 12,900 12,900 10,900
[CJL664 2867 19,600 20.700 19.100
[CJL66s 2867 10,900 10,900 21,300
(o670 286 18,600 19,000 21.300
[CoL672 286 21.000 21.000 26,800
674 286 12,900 15,900 25500
R (AE)=R6 R (AE) & [ JL605 28B1 81 23,200 20,500 12,900
[CJL607 286 25.400 20,100 20.700
[CJL609 286 ] 18,800 18,800 20300
[CuL6i1 286 12,900 10,900 12,900
[CJL613 286 18,600 18,600 23600
615 286 10,900 10,900 12,900
RS | JL606 28E T 12,900 12,900 10,900
[CJL608 286 18,600 20.300 18,800
[CJL610 286 10,900 10,900 19.300
[CJL612 286 300 21.300 5000
[CoL6ia 286 300 21.300 5000
616 286 500 15,900 1,900
R (AE)=RA BR (D) & |_JL623 28B1 81 900 900 900
[CJL625 286 ] 100 200 2.900
[CoL627 286 21,000 200 19.600
[CJL629 286 ] 18,600 100 18,600
[CJL63t 286 12,900 500 10,900
[CJL633 286 18,600 100 21,100
[CJL637 2867 20,100 20,100 23000
639 286 10,900 10,900 12,900
FAs | Jo2 2B 12,900 12,900 10,900
[CoL62¢ 2867 20800 22.700 19.300
[CJL626 286 18,600 20800 19,300
[CJL628 286 7] 10,900 10,900 12,900
[CJL630 2867 18,600 18,600 20.300
[CJL632 286 ] 18,600 18,600 22500
[CJL634 286 ] 18,600 18,600 22600
635 286 ] 12,900 15,900 20400
R (PE) =2 BOR (PE) % [_JL68T 28E A 21,800 17.300 12,900
[CJL689 286 24.000 17,600 16,800
[CuL6ot 286 18,600 17.300 17.300
[CJL693 286 ] 12,900 10,900 12,900
[CJL695 286 ] 16,800 16,800 18,300
697 286 10,900 10,900 12,900
L 28E 12,900 12,900 10,900
[CJL690 286 ] 16,800 16,800 16,800
[CJL692 286 10,900 10,900 12,900
[CJL694 286 16,800 16,800 18,300
[CJL696 286 16,800 16,800 20400
698 286 12,900 15,900 18,800
RER(RE)-ERE |HR(FE) [ _Jedl 28 B8 18,400 600 000
[CJL643 286 20,600 600 12,900
[CJL645 2867 20,600 600 12.900
[CoL647 2867 18,000 100 18,000
[CiL649 2867 16,200 100 18,000
[CJL6s1 2867 9900 9900 19.300
[CJL653 286 7] 14,700 14,500 17.500
655 2867 500 9900 17.500
BRE® [ Jleda 28E A 600 14,500 000
[CJL642 2867 000 16.100 7,300
[CoL644 286 ] 000 16,100 6.200
[CJL646 2867 900 9900 6.200
[CJL64s 2867 900 19,300 3100
[CJL650 2867 900 20.300 25300
[CJL652 2867 12.900 17.300 20800
["JL654 2867 12,900 16.200 20800
HR(AE)-€XXE [EZIE)F[ JL650 28B 81 28,200 28,700 28,200
FEABSE | Ji6s 286 ] 28200 28200 28.700
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abm EABE wAN wAn wAn ERH wAn ERH
V5| Jl2i63 286 8] 21,700 16,700 21,700 21,700
RE [ Ji2i64 2867 21,700 16.700 21,700 21,700
EXACIES 28E 17.900 15,300 14,900 14,900
28 8] 15,100 100 18,600 18,600
2B 600 27.300 27.300
RS 28B4 600 18100 18,100
28E 100 15,800 15,800
| 28E T 100 18,600 18,600
K (B =TE2 KR (B % |_JL2181 28B1 81 500 24,400 24,400
(L2183 286 500 29700 29700
(L2185 286 500 31.900 31.900
2187 286 200 27.300 27,300
TEBR [ JL2180 28E T 400 23200 23200
L2164 286 500 26,600 26,600
(L2186 286 500 35.100 35.100
2190 2867 500 35100 35100
KB (B =7 KR (B % |_JL2233 28B1 81 200 19,500 19,500
(L2235 286 200 23300 23300
2237 286 18,600 20200 20200
R | Jiezsd | 28E 16,100 20200 20200
(L2236 286 18.400 600 600
2238 286 18,000 600 600
KGR -WE | KB 5 | JL2201 28E T 300 700 700
(L2203 286 300 000 000
(L2205 286 400 000 000
(L2207 286 900 200 200
(L2208 286 000 800 800
(21 2867 18,300 000 000
(2213 2867 700 200 200
2215 286 800 700 700
WESE [ JL2200 2858 200 400 400
(L2202 286 600 200 200
[CL2204 286 200 600 100 100
[CJL2206 286 200 300 100 100
[JL2208 286 400 300 20000 20000
(L2210 286 200 100 13,900 13,900
2212 286 100 900 18,100 18,100
2214 286 500 900 17.400 17.400
RGP 3¢ | L2241 28 8] 13,900 700 11,900 11,900
2243 286 13,000 4,000 11.200 11.200
2247 2867 16,100 16,000 20,000 20,000
2251 286 15,000 15,100 18,200 18,200
EiE) 2240 28E T 15,500 15,300 13,100 13,100
2044 286 16,900 14.400 16,900 16,900
2246 286 14,900 13,800 700 700
2250 286 16.100 14,000 200 200
EACZE A KR (B % |_JL2301 28B1 81 9,600 9,700 .600 .600
2309 286 ] 9,600 9,600 600 600
TS [ JL2302 286 9,600 9,600 600 600
2310 286 ] 11,500 11,500 500 500
K (B =X5 KB () 5 [ JL2361 28B1 81 12.200 700 100 100
(L2365 2867 15,500 400 500 500
2367 286 10,900 800 200 200
XAE [ JL2362 28E 11,600 700 700 700
(L2364 286 10,700 700 600 600
2366 286 14,600 400 100 100
KR (B =Ry RER (B § [ JL2371 28E A 13,600 400 700 700
(L2373 2867 18,100 400 500 500
(L2375 286 17.100 400 100 100
2377 286 11,300 500 800 800
R | L2372 28E 8 13,600 400 100 100
(L2374 2867 300 400 800 800
[JL2376 286 800 400 13,600 13,600
2378 2867 200 700 800 800
KR (B =ReA RIR (574 5 | JL2383 | 28881 100 800 600 600
(L2385 286 100 100 100 100
[JL3as1 28E] 300 300 300 300
(L2389 286 100 100 100 100
2393 286 9900 9900 9900 9900
A% [ JL2380 28E A 9,900 9,900 9,900 9,900
(L2382 2867 100 13,100 100 100
[JL3880 286 300 14,300 300 300
(L2386 286 100 600 100 100
2392 2867 100 100 100 100
KR (BFD =2 KR (B $ [ L2431 | 28E A 900 700 .900 .900
433 | 286 400 700 600 600
37 28E] 16,800 700 17.900 17.900
441 286 100 16,000 20200 20200
443 | 286 ] 200 700 14,700 14,700
ELEY 2430 | 28E A1 100 700 13,100 13,100
437 | 286 ] 200 300 17.800 17.800
a3a | 286 ] 100 700 18,600 18,600
438 | 286 13,000 700 13,600 13,600
147 286 ] 100 700 19.900 19.900
KR (BFD-ERE | XK %[ 2401 | 28E A 100 700 14,400 14.400
403 | 2867 100 000 14.400 14.400
407 | 286 7] 100 500 15,100 15,100
2409 | 286 100 400 17.100 17.100
51 286 200 300 13,300 13,300
4t | 286 900 700 7,100 7,100
415 | 286 ] 100 700 7.100 7.100
419 28E7] 200 500 4.300 4.300
BRER 2400 | 28E A 600 10,900 2,700 2,700
2407 | 286 ] 600 12,900 4,400 4,400
404 | 286 7] 500 12.700 16,000 16,000
406 | 286 ] 500 10,900 700 700
410 | 286 100 12.900 200 200
487 | 286 100 12.900 200 200
412 | 286 ] 100 14.200 200 200
414 286 100 14.200 200 200
BB (R ah) =AL0 (3 T Refes = 2 (P ) 3_JL3101 28B1 81 200 19,300 100 100
[Laior 286 000 14,300 500 900
3117 286 ] 600 12.400 2,000 000
L (37 7%) 3_JL3106 | 285 500 11,900 13,600 16,900
3114 286 18,300 12,900 20.300 22100
3118 286 500 13,900 20400 29,600
HR(AE)=EE BR (D) & |_JLOT1 28B 81 700 700 38,500 38,300
973 286 800 900 24,900 400
BEE | Jon 28 8] 700 900 24.900 200
L974 286 600 600 38.300 100
R FR)=F LIR (377 5_JL2803 28B 81 100 100 200 200
[CJL2805 2867 100 100 200 200
2609 286 ] 700 700 000 000
FEE [ L2804 285 800 13,300 200 200
[JL2806 2867 100 100 200 200
2810 2867 100 100 200 200
HEGFR)-BE  fLRGTR) H L2821 28E A 13,600 900 100 100
2877 2867 16.100 100 000 000
TREFE | JL2822 2867 16,300 100 900 900
2628 2867 500 13,600 100 100
HEGEFR)-EE  fLRETR) H L2831 28E A 400 16.900 300 5,300
(L2833 2867 400 25.400 13,600 13,600
2839 286 7] 200 23400 13,200 13,200
TEBS | JL2830 285 21,200 20200 15,900 15,900
(L2832 2867 23300 23300 13,600 13,600
2638 2867 200 23300 18,600 18,600
HEGFR) R Fomsk | Ji2enn 28E A 800 13,000 13,700 13,700
2677 2867 100 20200 16,600 16,600
LR (37 /) L2872 | 285 200 13,300 12,300 12,300
2876 2867 100 19.100 16,600 16,600
AR GFR =S ez 2901 28B4 800 12,400 8700 8700
(L2903 2867 21.700 17,000 11,600 11,600
(L2905 2867 15,600 15,800 9700 9700
(L2907 2867 17,000 19.300 12.900 12.900
2909 286 17,000 19,300 11,900 11,900
LR (3 F %) 3_JL2900 286 21.500 16,300 9000 9000
(L2902 2867 18,600 16,700 10,100 10,100
(L2004 2867 14,800 13,600 700 700
(L2906 2867 16,700 22100 11,300 11,300
2910 2867 11,600 14,000 700 700
EEE [ 523 2867 28400 25,800 400 400
it [JL3526 286 28,400 25800 400 400
s | JL35al 286 26.300 19.500 200 200
3537 2867 25,000 18,300 500 500
Was 3530 28E 23200 18,300 100 100
3538 28E] 23200 20,100 400 400
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igﬂﬂ ERHR ERHR ERR EEE ERHR EEE
R (EH=-RR () 5 | JL2895 28681 9,800 7,000 9,800 7.000
(L2804 2867 9,300 X X
LB (3 =B FLEE () % [ JL2741 28E A 17.100 17100 17100
(L2743 2867 9,900 9900 9500
[Lzras 2867 9900 17.100
[CLz7as 286 ] 9900 500
(L2753 286 7] 9900 900
(L2755 286 13,600 900
2757 286 7.900 900
IR | JL2740 28E A 7,900 900
L2742 286 17.100 17.100
[Lzraa 286 9900 9900
[CLz7a 286 9.900 17.100
(L2748 286 9900 9,900
L2752 286 9900 9900
2754 28E] 17.100 9900
AR (EH)=-FR FLOR (%) % | L2881 28B1 81 — 8,900
2863 286 ] 13200 11,100
FIms | JL2880 286 8,500
2882 286 11,100 13200
2891 286 7500 6000
2890 286 7.500 X
2817 2867 70,000 10,000
=R® | Jmsic 286 10,000 10,000
BR3P EC =223 ) INW ] 28EA] 800 800
2127 286 500 800
TREAR | 2120 28881 500 500
2126 286 500 800
RGP 3¢ |_JL2321 28E 8 800 300
2325 286 800 300
BEE [ L2322 28881 800 000
(L2326 286 ] 200 400
s [ JL3563 | 26E1 8 700 .500
3567 286 100 14,800
WEE | JLosed 28881 100 14,600
["JL3568 286 700 15,500
RS | JL3o8l 28E 100 20900
3587 2867 100 19.900
BHE | L3562 268881 100 19.900
["JL3se8 2867 100 20900
s [ L3501 | 28881 800 13.300
[JL3505 286 700 15,000
(L3601 2867 100 16,300
3607 286 800 18,200
AITE S I 28E 800 13,300
[JL3596 286 100 14,300
[JL3602 286 800 17.100
["JL3608 2867 700 15,000
Tm%E | JLo2l 28881 700 900
[JL3625 2867 800 900
[JL3629 286 ] 500 200
(L3631 286 700 900
[JL3633 286 ] 700 900
[JL3638 286 ] 800 000
3641 286 7] 500 600
EWSE [ JL3620 26881 500 200
(L3622 2867 000 700 500
[JL3626 286 300 700 900
[JL3630 2867 900 700 900
(L3632 286 200 500 600
[JL36aa 2867 900 700 000
(L3642 286 900 700 300
E 3653 2867 70,000 600 10,000
BEES 3654 28E A 9500 ,200 9,500
ERE® | JLcel 2867 16,600 15,500 18,600
FNITE N T 286 16,800 15,500 16,800
EREHTE BERER L3761 | 28E 81 9,800 800 9,800
[JLa763 2867 10,800 200 11,900
[JLa769 286 7] 10,800 600 10,800
3777 2867 10,300 200 11.400
ATRR 3760 28B4 10,300 700 10,300
[JLar62 286 10,800 600 10,800
[JLa768 286 10,800 600 10,800
3772 286 10,800 600 10,800
BRE-BZXE BRER | JL3725 28E A 16.400 500 15.300
[JLarai 286 12,900 13,900 11,600
[Lara7 286 400 400 15,300
[JLar2g 286 600 600 15,200
a3l 286 ] 300 100 900
[JLs7a3 286 ] 100 100 900
[JLa7as 286 100 100 900
[JL3a65 286 7] 300 100 900
3737 286 7] 100 100 600
BEXER [JL3722 28E A 300 300 300
[JLaraa 2867 600 600 600
[JLa126 286 ] 300 300 300
[JLarzs 286 600 600 600
(L3730 286 ] 400 400 400
[JLaa64 286 400 300 400
[JLs732 286 7] 400 400 400
[JLaras 286 ] 400 300 400
3738 286 500 500 500
BRE-BZE BRBRE | JL3791 28E A 15,800 700 15,800
[JLa7e3 286 ] 16,600 18.900 16,600
[JL3se7 286 ] 20,000 = 20,000
[JLa795 286 ] 20,000 78900 20,000
3797 286 7] 20,000 18,900 20,000
BZER 3792 28881 20,000 18,900 20000
[JL3se8 286 20,000 - 20,000
[JLarea 286 ] 20,000 78900 20,000
[JL3796 286 ] 20,000 18,900 20000
3798 2867 19,000 18,000 19,000
ERER 3801 28881 .500 400 500
[JL3803 286 100 400 100
3809 286 500 400 500
[JL3800 286 500 400 500
[JL3s04 286 100 400 100
3808 2867 500 400 20500
BERE-58% ERE®E | J13823 28E A 21,000 500 20,000
5% | s 286 ] 20,000 500 21,000
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; A== ERGALE—I)
ERH wE

X

HHECAE) %

KR (B [ J
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